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The following table shows the percentage (%) distribution of viewers of JIO TV channel in five
different towns (A, B, C, D and E) alongwith the number of viewers who subscribed the channel
among them in the year 2023. Number of viewers in the town E is 1200. Based on the data in the

table, answer the questions that follow.

Town-wise Details of Channel Viewers
Town|Percentage Distribution of Channel Viewers [Number of Viewers who subscribed for the Channel
LA 2% 440
B 13% 500
C 28%% 280
D |23% 700
E 209%% 360

Note: For each town, number of channel viewers 1s the sum of number of viewers who subscribed
tor the channel and the number of viewers who did not subscribe for the channel.

Sub questions

Question Number : 1 Question Id : 34212315608 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

If the number of male unsubscribed viewers in Town-D is

200
3

% more than that of female

unsubscribed viewers, then what is the ratio of number of male unsubscribed viewers in Town-D
to the number of unsubscribed viewers in Town-A and Town-C together?

123333
2.25:54
3. 759
4.2:3

Options :

1.1

2.2

3.3

4.4

Question Number : 2 Question Id : 34212315609 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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If P is the total number of unsubscribed viewers in Town-B and Town-C together, and Q is the
number of subscribed viewers in Town-E, then Q is % less than P.

1.6

h

(]

. 80

3.60

4.70

Options :
1.1
2.2
3.3
4.4

Question Number : 3 Question Id : 34212315610 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

325
i

If out of the number of viewers from Town-C, == are female and E of the number of female

viewers are unsubscribed viewers. then the number of unsubscribed male viewers from Town-C
IS.

1. 340

-2

. 360

3. 380

4. 420

Options :
1.1
2.2
3.3
4.4

Question Number : 4 Question Id : 34212315611 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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What is the difference between the number of unsubscribed viewers and subscribed viewers,
taking all the towns together?

1.320

(]

. 240
3. 340

4. 300

Options :
1.1
2.2
3.3
4.4

Question Number : 5 Question Id : 34212315612 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

If P is the total number of unsubscribed viewers in Town- B and Town-C together. and Q is the
number of unsubscribed viewers in town-E, then Q is % of P.

1. 60

]

.70
3. 80

4.75

Options :
1.1
2.2
3.3
4.4

Question Id : 34212315607 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (1 to 5)
Question Label : Comprehension
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g aifereT | @8 fafi= 7RI (A, B, ¢, D3R E) H 2023 H 57211 (710) 71 91 971d & G2l &
UTIRId (%) TaaR0T 3R 39 d9d & UTgd aRid| & Y21 G2Ts s o | TR E H a=id! &f J
1200 g | dIfeid § Wed STel & YR WR, 31 U 7TV YUYl & IR SIIU:

T X! P (a0
TR GRd! @1 Ud=d (G0l [o-d & T8® GRd] &I S|
A [12% 130
B 5% 500
C |28% 880
D 5% 700
E 0% 360

feuufl: Ud® TR & forg, Icl o=l B e 39 I & D GRD! DI WA 3R I
GRId] &I GBI 1N g Sl 39 d-d & g ol g |

Sub questions

Question Number : 1 Question Id : 34212315608 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

If¢ TR D H T8 TY (D] BT I, S AED el €. 1 Al a=iep! bl IRATH 22,

4 ¢, S U8 -Tel 6. Al R D H UEH A gHaTd U G| & W &I TR A 3R TR
¢ H e ¢! & e 9 giHdTd GXd! Bl U1 U 3urd fhd-1 g2

L2553

2.25:54

3. 759

4.2:3
Options :
1.1
2.2
3.3
4.4

Question Number : 2 Question Id : 34212315609 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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gf¢ IR B 3R 'R ¢ DI {did 981 & Ud cRidh] &l o Y= P ¢ IR TR EH U8H
CUHI DI YBIQe, dPUQ % PHGI

1.6

L1

I

. 80
3.60

4.70
Options :
1.1
2.2
3.3
4.4

Question Number : 3 Question Id : 34212315610 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Erﬁ.*w-cﬁ?a?eﬁaﬂf—i@rﬁﬁﬁﬁ%n%?mi%ﬁ?ﬂ%ﬁ@hﬁﬁmﬁﬁ%é‘%ﬁ
qIed Aol o, dl TR - C Y UIgD 4 9 GRD| D TSA] ol '

1. 340

B

. 360

3. 380

4. 420

Options :
1.1
2.2
3.3
4.4

Question Number : 4 Question Id : 34212315611 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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gt TRl B THTER TIgd 1 94 aRid! 3R Iied aUD| & Wl & did BT 3R fhd-r g2

1.320

2

. 240
3. 340

4. 300

Options :
1.1
2.2
3.3
4.4

Question Number : 5 Question Id : 34212315612 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

g AR - B 3R TR - ¢ &l @ d#ﬁﬂ[ﬁd}qﬂlﬂcﬂﬁ qﬂm“fﬁg_m TP g 3R AN -
E U UEH A §-dTd adh] HI WA Q g, A P HIQ %G|

1. 60

I

.79
3. 80

4. 75
Options :
1.1
2.2
3.3
4.4
Sub-Section Number : 2
Sub-Section Id : 342123613
Question Shuffling Allowed : Yes

Question Number : 6 Question Id : 34212315613 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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The impaired memory for events occuring before the onset of amnesia is called as:-

1. Phonological loop
2. Retrograde amnesia
3. Anterograde amnesia

4. Visuospatial sketchpad

Options :
1.1
2.2
3.3
4.4

Question Number : 6 Question Id : 34212315613 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Wiy (THARADN & RY g4 U Yd "fcd g1 & fofu &t gdl ¥fd Hedidl 6 -
1. WS

2. Uy Wiy (TR

3. TGN Wiaag (AR
4. faSleaRme Wats

Options :
1.1
2.2
3.3
4.4

Question Number : 7 Question Id : 34212315614 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What of the following aspects does not pertain to delibrate practice of learners?

1. The task is too easy or too hard

t2

. The learner is given informative feed back about his/her performance
3. The learner has adequate chances to repeat the task

4. The learner has the opportunity to correct his/her errors

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 8/187
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Options :
1.1
2.2
3.3
4.4

Question Number : 7 Question Id : 34212315614 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fFafaRad @ ¥ SH-41 ugq el & giaaria snarg # 981 o g2
1. Ig B yaTd S 3Hydl 9gd Hid g |
2. TRt i 3P e & IR H adS Bisdd [Gg1 T g
3. Tremalf & U 1 Bl QIR & Wit SR gl
4. TR7emdt & urg ool Ffeal &l g8 HIH & HaE T

Options :
1.1
2.2
3.3
4.4

Question Number : 8 Question Id : 34212315615 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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LISTI LISTII
Online Softwares/Tools Application
A | Trello 1. | Managing and analvzing social media campaigns
; Managing and recording, fun built-in camera recording add effects and
B. |Hootsuite II. ;
share in the groups
GitHub : ] .
C. i II1. | Managing group projects and tasks
D. |Flipgrid IV. | Managing and writing coding assignments

Choose the correct answer from the options given below:

1. A-IV, B-111, C-II, D-1
2. A-III, B-1V, C-1II, D-1
3. Al B-1, C-IV, D-1I

4. A-1, B-11, C-III, D-1IV
Options :
1.1
2.2
3.3
4.4

Question Number : 8 Question Id : 34212315615 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e Hifoy

I 1

(THATET iy / 231%
A |femt L | i i figH! & vdyd ud faRey &A1
R | e 51 SR RSl @1 e d RS aem ok 5
3! Bl Slle®m? 34 g H Il &l
fireed Taraed 11 |99 ufareHist| ud &l ol gag= @l
D. |Teufirs V. | BIfET FoaeEl &1 ey ud oa-
4T faU U fad el § 9 981 3R &l 994 Diflu:

1. A-IV, B-111, C-1I, D-1

I

3. A-III, B-1, C-1V, D-I1

4. A-I, B-II, C-IIL, D-1IV

Options :
1.1
2.2
3.3
4.4

.A-IIL B-1V, C-11, D-1

Question Number : 9 Question Id : 34212315616 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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Which of the following channels of Swayam Prabha are under IGNOU, New Delhi?

A. Channel 4
B. Channel 7
C. Channel 15
D. Channel 12
E. Channel 20

Choose the correct answer from the options given below:

1. A and E only

b2

.C and D only
3.B. C and E only

4. A.Band D only

Options :
1.1
2.2
3.3
4.4

Question Number : 9 Question Id : 34212315616 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fafdfRad 9 9 syl & 1Y d4d =3 [doedl fud 29 & sidiid g2
A. 00 4
B. d9d 7
C. 994 15
D. 994 12
E. d4d 20

1 feu U fas ettt # 9 F1 IR &1 99 DI
1. hdcd A 3R E
2.Hdd C 3R D
3.Hdd B, C 3RE
4. HId A, B 3R D

Options :
1.1
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2.2
3.3
4.4

Question Number : 10 Question Id : 34212315617 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following can be used as LMS to create and manage course content?

A. Moodle
B. Zoom

C. Edmodo
D. Canvas
E. Strawpoll

Choose the correct answer from the options given below:

1. B, D and E only

B

A, Cand D only

LFE]

.B, C and E only

4. A.Band D only

Options :
1.1
2.2
3.3
4.4

Question Number : 10 Question Id : 34212315617 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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fraferad @ ¥ fo-a1 urea=gl &f favgasd & Yo 3R Ut & foll Ud. T, 0q. & = 1
T fhdl &I Hehal g2

A Had
B. 9H
C. USHIS]
D. Hd1g
E. &UId

A fau U fasedl # 9 ¥8T 3R &1 994 Dol
1. Hdd B, D 3R E

2. HAA A, C 3R D
3. Hdd B, C 3ARE
4. %dd A, B 3R D

Options :
1.1
2.2
3.3
4.4

Question Number : 11 Question Id : 34212315618 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

According to UGC Regulations 2018 on Plagiarism, which of the following percentage of
similarity in the thesis would result in the cancellation of a student's registration in the
programme he/she is registered in?

1. 42%

4.61%
Options :
1.1
2.2
3.3
4.4

Question Number : 11 Question Id : 34212315618 Question Type : MCQ Option Shuffling : No
https://g28.digialm.com/CAE/viewHtmIPDFAction.action 14/187
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Correct Marks : 2 Wrong Marks : 0

Yifed 9’ & Ydiy d fayfqeerd sFeM smanT (goiid) fafFad 2018 & YR 2y gdy o
fgfeRad ® U fod ufd=rd gHHEd Urs S W fdbdl B &1 Uoiihrul 39 UiUH 9 IE ¢
ST, S U 98 Usiied o2

1. 42%

-2
A
T
=}
a\

4.61%
Options :
1.1
2.2
3.3
4.4

Question Number : 12 Question Id : 34212315619 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following types of sampling is likely to have least bias?

1. Snowball sampling

f-2

. Simple random sampling
3. Convenience sampling

4. Purposive sampling

Options :
1.1
2.2
3.3
4.4

Question Number : 12 Question Id : 34212315619 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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fFafafad 7 9 &9 YR & Ufdegd # AdH gaiig g ST JH1aHT gidl ©:
- hgd Ufd=a (@idrd Uid=a)

YR gTefyd Ufd=d

- gfayrsH s ufdagd

4. QU ufdaa-

Options :
1.1
2.2
3.3
4.4

—

g

L8]

Question Number : 13 Question Id : 34212315620 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify the correct statements regarding survey research.

A. A closed ended question contains a set of answers that a respondent chooses

B. Self-Deception Positivity is a from of social desirability bias

C. Impression Management is a form of social desirability bias

D. In key informant sampling, a researcher uses a member of the population of interest to
actively recruit others

Choose the correct answer from the options given below:

l.A. Band C only
2.B. C and D only
3. A.Band D only

4. A. Cand D only

Options :
1.1
2.2
3.3
4.4

Question Number : 13 Question Id : 34212315620 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 16/187



8/31/24,10:11 PM g28.digialm.com/CAE/viewHtmIPDFAction.action

YA&fuT YU & Gdy T Tl YAl Hl UgdH HIfe:

A. 3 TR a1 Uy | SRl &1 U< gidl g o SR a-aral g1 g |

B. 3TH-dd4 YHRIHAD I, YT dig-1adl Iaiig 1 FJ 3l

C. YHTd UseH, Yol qidg-1gdl Jaiig &1 &4 ¢

D. YA Y Yfcragd 1 Uh Ul Eid B S8 & U Yo ST ST Gl
DI Yl B & [T HIAT 8|

- fqu ¢ fgdett H# 4 FoT IR &l 99 DI
1. Had A, B AR C
2. $HIAB. C 3R D
3. $had A, B3R D
4. Had A, C 3R D

Options :
1.1
2.2
3.3
4.4

Question Number : 14 Question Id : 34212315621 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following statistical measures in increasing order

A 37ih percentile
B. first quartile
C. median

D. third decile

Choose the correct answer from the options given below:
1 B2, B
2.B.D.A.C
3B, C.AD

4.C,B, D, A

Options :
1.1
2.2

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 17/187
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3.3
4.4

Question Number : 14 Question Id : 34212315621 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frafeRad OiRers 1 AUl &1 d6d $H H ogaid Dif|

A. 37 91 IdHS
B. Ugdl Igdd
C. HIfED]

D. AR GRHS

A fGu U A edl § 9 T 3R &1 994 DifeiL:

1.A,B,C,D

2.B,D,A,C
3.B,C;A, D

4.C, B, D, A

Options :
1.1
2.2
3.3
4.4

Question Number : 15 Question Id : 34212315622 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 18/187
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Match List I with List IT
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List I List IT
(n=number of trials p=probability of success)|(Variance of Binomial Distribution)
A ln=7.p=03 L |144
B |n=3p=04 I |2.00
C. |[n=8p=03 Im. 11.20
D |n=6p=06 V. | 147

Choose the correct answer from the options given below:

1. A-1, B-II, C-IIL, D-IV

2. A-II B-III, C-IV, D-1

3. AL B-1V, C-I, D-1I

4. A-IV, B-1I1, C-1I1, D-1

Options :
1.1
2.2
3.3
4.4

Question Number : 15 Question Id : 34212315622 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e Hifoy

.. . ik

o= T 3 Ry | (50 [0 BT TR

A |n=7p=03 I 144
B. |n=5p=04 II. 12.00
C. In=8.p=053 I | 1.20
D. |n=6.p=05 IV, [ 1.47

il [ -

A Teu TU [dd el | 9 gt 3R &1 994 HITU:

1. A-I, B-II, C-III, D-IV
2. A-11, B-1II, C-1V, D-1
3. A-IIT, B-IV, C-I, D-II

4. A-IV, B-III. C-II, D-I
Options :
1.1
2.2
3.3
4.4

Question Number : 16 Question Id : 34212315623 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In the post-information age, information is highly.

|. Homogeneous

t2

. Communitarian
3. Personalised

4. Impersonal

Options :
1.1
2.2
3.3
4.4

Question Number : 16 Question Id : 34212315623 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 20/187



8/31/24,10:11 PM g28.digialm.com/CAE/viewHtmIPDFAction.action
TR - G g 1 YA A
R EIRIEN

HEEE §
4. 3dUfad® o

Options :
1.1
2.2
3.3
4.4

—

f-2

L8]

Question Number : 17 Question Id : 34212315624 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In an information society, even nuclear families have the characteristic of technological

1. Separation

t-2

. Mediation
3. Constriction

4. Passivity

Options :
1.1
2.2
3.3
4.4

Question Number : 17 Question Id : 34212315624 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 21/187



8/31/24,10:11 PM g28.digialm.com/CAE/viewHtmIPDFAction.action

g%%am&ninﬁﬂwﬁmwﬁa@raﬁiﬁﬁaﬁfﬁaﬂmm GCAREELG!
|

1. G
2. AR

3. P
4. HHUTA

Options :
1.1
2.2
3.3
4.4

Question Number : 18 Question Id : 34212315625 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A hot medium has the features of:

A. Pre-supposition of interaction

B. Providing large amounts of information
C. Little effort needed for interpretation
D. Less scope for participation

E. Immediate feedback

Choose the correct answer from the options given below:

1. A B, Conly

[

. C, D, Eonly
3.A,C,Donly

4.B,C,Donly

Options :
1.1
2.2
3.3
4.4

Question Number : 18 Question Id : 34212315625 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 22/187



8/31/24,10:11 PM g28.digialm.com/CAE/viewHtmIPDFAction.action

FrafaRad mrem o1 Fefafad ot gid 8

A. TRTR® T 1 qaigaH

B. 931 A1 H AT 3UCT DRG]

C. ARAT (AT B & [ BT T 64 DI ahdl gldl ©
D. YTl & folt o1 egw

E. dichIidd Uidgfe

i fu U fad el § 9 @81 IR &l 994 Diflu;
. HAAd A, B, C

2. Bdd C.D.E
3. HAAd A, C.D
4. BAd B. C.D

Options :
1.1
2.2
3.3
4.4

Question Number : 19 Question Id : 34212315626 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify the correct chronological sequence of the following communication devices:

A. Blu-ray Disc

B. Universal media Disc
C. Digital Compact Disc
D.Hi8

E. Digital Audio Tape

Choose the correct answer from the options given below:
L.ED C B A
2D:CRAE
3B AED

4.B,AE D, C

Options :
1.1

https://g28.digialm.com/CAE/viewHtmIPDFAction.action
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2.2
3.3
4.4

Question Number : 19 Question Id : 34212315626 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

YaR U 9 FafaRad Ul & dicdd & Yol hd &l g S|

A X 3w
B. gi-qyd Hifsar fewn

+id fGu T fasedl § 9 @@t 39 &1 994 Hifeu:
I.E.D,C.B. A
2.D,C,B,A,E
3.C,B.AE,D
4.B,AE,D,C
Options :
1.1
2.2

3.3
4.4

Question Number : 20 Question Id : 34212315627 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match the List-T with List-IT

LISTI LISTII
(Medium) (Characteristic)
A |Radio I. | Asvnchronous
B. |Primt II. |High intensity of information
C. |Hot medium III. |Interactivity
D |Internet IV | Only Acoustic medium

Choose the correct answer from the options given below:

1. A-I, B-II, C-1II, D-IV
2. A-1I, B-III, C-1V, D-1
3. AL B-TV, C-1. D-IT

4. A-IV, B-1, C-II, D-IIT

Options :
1.1
2.2
3.3
4.4

Question Number : 20 Question Id : 34212315627 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e Hifoy

I I
= | &
A | L |sgsoifts
B. |qzU II. | =T &l 3= Mol
C. | emhHE® g | 1L | IRERS haradd
D. |Fee V. |dae @f-ie arem

I feu 71U fash el § 9 T8t IR $I1 994 HIfIT:
I. A-I, B-II, C-IIL, D-IV
2. A-IL B-IIL, C-IV, D-I
3. AL B-IV, C-I, D-II

4. A-1V, B-1, C-1I, D-III

Options :
1.1
2.2
3.3
4.4

Question Number : 21 Question Id : 34212315628 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

If a fraction is multiplied by itself and then divided by the reciprocal of the same fraction, the
result obtained is 492 Find the fraction.

n
l.3—

Lad

ta

W | —

i | b

4.41
3
Options :
1.1

2.2

3.3
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4.4

Question Number : 21 Question Id : 34212315628 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

gfe fpd fird o1 34! 3 Y 707 {61 S 3R 34 916 390! 341 & Hohd Y fauord
ﬁmwa“rwwﬁwmm%@maamﬂmﬁml

A
1.3=

Options :
1.1
2.2
3.3
4.4

Question Number : 22 Question Id : 34212315629 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Find the number that can be inserted at the place of questions mark (?) in the series given below.
4, 10, 20, 34,52, 74,7

1. 98

I

102
3.97

4. 100

Options :
1.1
2.2
3.3
4.4

Question Number : 22 Question Id : 34212315629 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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a1 1S gaar § Uy g & RIF W SR 1 Si-dlel Y J1d i |

4, 10, 20, 34,52, 74,7

1. 98

2

102

3.97

4. 100
Options :
1.1
2.2
3.3
4.4

Question Number : 23 Question Id : 34212315630 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

Match the List-T with List-TT

LISTI LISTII
(Statement) (Result)
A | Average of the squares of first 10 natural numbers| 1. |13
B. | Average of first 5 multiplies of 5 II. |45
C. | Average of first 25 natural numbers III. | 38.5
D. | Average of cubes of first 3 natural numbers IV. |15

Choose the correct answer from the options given below:

1. A-I, B-II, C-III, D-IV
2. A-1l, B-1II, C-1V, D-1
3. A-1IV, B-1, C-II, D-III

4. A-III, B-IV, C-1, D-II

Options :
1.1
2.2
3.3
4.4

Question Number : 23 Question Id : 34212315630 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e Hifoy

I I

o o,

YA 10 Widids Seeff dar o1 afiad| 1|13
5 @ TYH 5 0TS Bl 34d I |45
UYH 25 Wi RT3 BT Sed I |385
Ty 5 Uihfdd deafl & u @1 gd | IV |15

AT U U fadhedl § U It 3R &1 994 DIoIU:

1. A-I, B-II, C-III, D-IV

olo|w|x

2. A-II, B-IIL, C-IV, D-1
3. A-IV, B-1, C-II, D-III

4. A-III, B-1V, C-1, D-II

Options :
1.1
2.2
3.3
4.4

Question Number : 24 Question Id : 34212315631 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In a certain code language:

*“Kashmiri Cuisines are good” is coded as: * KI CI FI GI”

*“You like Kashmiri Cuisines™ is coded as: “AI LI KI CI”

“Indians like Punjabi Cuisines™ is coded as: "MI LI BI CI"

“Punjabi Cuisines are best™ is coded as: "BI CI FI TI"

How the words *you’, ‘Indians’ and' best' are coded in this language.

1. LI, KI and Al

f2

.KI, MI and CI

3.AI MIand TI

4. AL, MI and CI

Options :
1.1
2.2
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3.3
4.4

Question Number : 24 Question Id : 34212315631 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fhd e YW T:-

“Kashmiri cuisines are good” @I KI CIFI GI b ¥ H CTEFATRIREIR]) S
“you like Kashmiri Cuisines” @I AI LIKI CI® U H dddg ERIEIGIE
“Indians like Punjabi Cuisines” MILI BI CIh U I podg bl EIGI
“Punjabi Cuisines are best™ BI CI FI TI &Y Pldeg ERIEIGIE

o4 HTyT H ‘you', ‘Indians’ AR “best” Dl Y UHR Pldg ICRRIE| %i’
A1d U TIQ fddpedl H ¥ #5T SR B 79 DIfSIE:

1. LL KI 3R Al

2. KL MI 3R cI
3. AL MI 3R TI

4. AL MI 3R CI

Options :
1.1
2.2
3.3
4.4

Question Number : 25 Question Id : 34212315632 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

There are some Cows and Ducks in a park. The total number of heads of Cows and Ducks
together is 60. However, the total number legs of the cows and ducks together is 180. Find the

number of cows and ducks in the park, respectively.

1. 30, 30

2

32,28

3.28 32

4. 24, 36
Options :
1.1
2.2
3.3
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4.4

Question Number : 25 Question Id : 34212315632 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Uh Uid H $& Y 3R S §. 71 3R §wal & (R &1 ol feidh: W& 60 g1 qyid,
T 3R dodl D1 Dol THThR T 1 AT 180 1 UTdh H 71T 3R Seival &bl TeT hus:
J1d DIfTU|

L.

[

4.

30,

Options :

1.1
2.2
3.3
4.4

Question Number : 26 Question Id : 34212315633 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

30

g28.digialm.com/CAE/viewHtmIPDFAction.action

*This piece of Chalk has mass, therefore, the atoms that compose this piece of chalk have mass.”
Which of the following options is true of the above argument?

1. Fallacy of composition 1s committed here

2. Slippery slope is nvolved here

3. Hasty Generalization is committed here

4. It 1s a non-fallacious argument

Options :

1.1
2.2
3.3
4.4

Question Number : 26 Question Id : 34212315633 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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i (AN & TH hs U ST g, ST dlh & 39 Sho BT AT 6 dle] TRHTILS]
o ot goqa gidl & Suddd gfdd & Y&y ¥ Fafafad @ 9 s fde e g g2

1. I8l Uefd Siv fhar TR 5|
2. gel Thyed gad ¢a Hdfigd g1
3. gg G=Rd IrAISHI 6l T g |

4. 98 U TR - Ay gfad ¢

Options :
1.1
2.2
3.3
4.4

Question Number : 27 Question Id : 34212315634 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following statements are true?

A. A valid argument may have false premises and a true conclusion
B. An invalid argument may have false premises and a true conclusion
C. An invalid argument may have true premises and a false conclusion
D. A valid argument may have true premises and a false conclusion

Choose the correct answer from the options given below:

1.AB,C.D

t-2

. B and C only
3. Aand D only

4. A. B and C only
Options :
1.1
2.2
3.3
4.4

Question Number : 27 Question Id : 34212315634 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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fAafRad 7 ¥ ®H-0 &Y Td o2

A. T 94 g § i 3R 3R U U by gl Thal g
B. U 3{d% gfqd O e R r 3R Uh 9 5y gl Ghdi gl
C. U 33 gfad T I ATUTRGR 37R Ueh {71247 F5h gl Yhdl ¢ |
D. Ut 94 Gfdd ¥ Y YR 3R U {7721 F5H gl Ihdl gl

A fGu U A edl § O 8T 3R &1 904 DifoiL:

1.A,B,C,D

) FHIAB AR C
3. HddA AR D
4. Hadd A, B3R C

Options :
1.1
2.2
3.3
4.4

Question Number : 28 Question Id : 34212315635 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following in order of decreasing denotation.

A. Physics

B. Natural Sciences
C. Sciences

D. Nuclear Physics

Choose the correct answer from the options given below:
1.C.B,A D
2.B.C,A.D
3.D.AB.C

4.B.C.D A
Options :
1.1
2.2
3.3
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4.4

Question Number : 28 Question Id : 34212315635 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fAeIRad & ged 9dd & HH H FaRRUd DIfI:
A, HIfd® IR
B. UIdidd fa3
c. fagm
D. AIHS I HITdH AR
< fSu U fadeul § 4 @87 IR BT 90 DIOIT:

1. C.BA D

[

B.C.AD

3:PD.AB;C

4.B.C.D. A

Options :
1.1
2.2
3.3
4.4

Question Number : 29 Question Id : 34212315636 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match the List-T with List-IT

LISTI LISTII
{Type of informal Fallacy) (Reason)
A |False cause 1. |Relevance
B. | Appeal to Emotion II. | Ambiguity
C. | Complex Question III. | Defective Induction
D. |Fallacy of Composition | IV, |Presumption

Choose the correct answer from the options given below:
1. A-IV. B-II, C-1I1, D-I
2. A-IIL B-1, C-IV, D-1I
3. A-IIL, B-IV, C-1, D-II

4. A-II, B-1, C-IV, D-III

Options :
1.1
2.2
3.3
4.4

Question Number : 29 Question Id : 34212315636 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e Hifoy

(&Hﬁﬂﬁﬁ:ﬁ;ﬁaﬂm (ﬂ%
A |fa eRo 1 |l
B. | 914G 3FI8 . | 3Rgpdl
c. |sfeamy 1L | GIeqUi 3
D. |Wefd g IV. | qaigaH

I feu 71U fash el § 9 T8t IR $I1 994 HIfIT:
1. A-IV, B-IL, C-III, D-I
2. AL B-1, C-IV, D-II
3. AL B-IV, C-I, D-II

4. A-I1, B-1, C-1IV, D-IIT

Options :
1.1
2.2
3.3
4.4

Question Number : 30 Question Id : 34212315637 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

According to Nyaya logic which of the following statements is fallacious because the middle
term instead of proving the existence of the major term in the minor term., it proves its non-
existence therein.

1. Sound is eternal because it is produced

]

. The hill has fire because it 15 knowable
3. Sound 1s eternal because it 1s audible

4. All things are non-eternal because thev are knowable

Options :
1.1
2.2
3.3
4.4
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Question Number : 30 Question Id : 34212315637 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A A & YR FEfaRad § ¥ fdd Sy o dhaly ¢ difd T Ug, 1o Ue § gre ug &
3 Dl lfdd DI & Iol1d, T8 IUH 34D AT ci-dl I Tlied Hdl g

L. €17 21y ¢ 1 g Idiiad &l Sl B
2. UgTSI H 3N § i 98 34 B

3. & A1 g D T8 4 ¢

4. 9t - FEIE TR-=NYd € Fifh d I ¢

Options :
1.1
2.2
3.3
4.4

Question Number : 31 Question Id : 34212315638 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A keylogger. short for keystroke logger, is a type of that monitors and records what
you type on your computer or mobile phone.

1. Worm

2

. Spyware
3. Virus

4. Trojan Horse

Options :
1.1
2.2
3.3
4.4

Question Number : 31 Question Id : 34212315638 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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@I - ¥l AR & {elU Tigd Usq, Dl - AR Th UDHR DI © Sl 3MUd gRT 30
$HUIeR YT HIEd Bl TR 2130 &I ol Te! il &1 TR Hd1 ¢ 9 39 Rdbre gl

L. drH

2. TR
3. digxd
4. TIoH gIY

Options :
1.1
2.2
3.3
4.4

Question Number : 32 Question Id : 34212315639 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following pair of acronym and its expansion is incorrectly matched?

1. XML- Extensible Markup Language

t-2

. WWW- World Wide Web
3. VLSI- Very Large Scale Integration

4. SMS- Short Message Software

Options :
1.1
2.2
3.3
4.4

Question Number : 32 Question Id : 34212315639 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 38/187



8/31/24,10:11 PM g28.digialm.com/CAE/viewHtmIPDFAction.action

uRquif 9 34 fa¥dR &1 % # @ D181 g gAferd 181 €2
. U A U - TeRie st AT 31 cfiast

3% S S - dcs dI2s dd

1 T T 37 - 48 arSl Whel SCUTH

4. 7Y TH UY - 1C A HIEdTR

Options :
1.1
2.2
3.3
4.4

—

g

L8]

Question Number : 33 Question Id : 34212315640 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify the sequence of ICT terms A-D that correctly fills the blanks in the following paragraph:
is permanent memory that is used to store instructions that are needed to start the

computer. is fast temporary memory that is used to store data and applications that are

currently in use. carries out processing and turns data into information. The

1s used to plug all other components into the computer system.

A. Motherboard
B. RAM
C.CPU
D. ROM

Choose the correct answer from the options given below:
1D B A C
2.AD,C.B
3.C,A.B.D

4.D,B,C,A

Options :
1.1
2.2
3.3
4.4

Question Number : 33 Question Id : 34212315640 Question Type : MCQ Option Shuffling : No
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Correct Marks : 2 Wrong Marks : 0

313 4l &1 Uel A-D & 39 HH & UgdH ST Sl (9 T2 & Rad R 1 Ugl YR 4R
_ =yEigfa gl g o uanT 34 SHel & W%WWW%W
DU Bl HRY T & [0 HEAWHATgdigl 3T Wi il g ford
3 STeT d TN BT W%mam%ﬁﬂﬁaﬁﬂﬁﬁ CRIEIREEEE
JhH0 63l ¢ AR S1el DI Y1 § dad adl B &1 UG 30 gt
HCHI Bl HWR YoITell § Siis & foe fbar S g

A. HERdlS

B. 3R TUH
c. g g

D. 3R 3 TH
A fqu U fameul § 9 98T 3R 1 994 DI

1.D.B.A,C

2.A.D,C,B
3.C,A,B,D

4.D.B.C.A
Options :
1.1
2.2
3.3
4.4

Question Number : 34 Question Id : 34212315641 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Which of the following software titles are examples of operating system?

A. MS-Word

B. Linux

C. MS-PowerPoint
D. Adobe Photoshop
E. Android

Choose the correct answer from the options given below:

I.A. Cand D only
2.A.B.CandD only
3.B and E only

4. B, D and E only

Options :
1.1
2.2
3.3
4.4

Question Number : 34 Question Id : 34212315641 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

79 U ¥ 1Y 9ieda? i UdIa- YUl & 3alg 0l g2

A UATYdS
B. felHag

C. UH Y UTdR W@ige
D. US4 Hhiel2y

E. U39S
Hid fqu U fddetl #§ 9 Fg1 IR DI 949 iU
1.hdd A, C 3R D
2. Hdd A, B, C 3R D
3. Hdd B AR E
4. $dd B, D3R E

Options :
1.1
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2.2
3.3
4.4

Question Number : 35 Question Id : 34212315642 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the List-T with List-IT

LISTI
LISTII
E omipnter {(Description)
Network) P
A | Flat Network I. |Describes today's worldwide connection of networks
Describes a network that lies completely inside a trusted area of a network
B. |Extranet I . : ) i =i
and 1s under the security control of system and network administrators
o | i m Describes a network that avoids packet-looping issues, through an architecture
that does not have layers
. |Describes a network that is an extension of a selected portion of a company's
D |Internet vV N
Intranet to external partners

Choose the correct answer from the options given below:
1. A-IV. B-III. C-1, D-II
2. A-IIT, B-TIV, C-I1, D-I
3. AL B-1, C-IIT, D-IV

4. A-IIT, B-IV, C-1, D-II

Options :
1.1
2.2
3.3
4.4

Question Number : 35 Question Id : 34212315642 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e Hifoy

a1 gt o
(PUEX AeTH) (ferarom)
A |Uce dcad I |3 & fayerdt Sead & Saie &1 gui- ddl 8l

- U Acgd &1 9= BT & ol Quidar Aead & fausd 87 & iz 3R gomeh
& [dige U g Yead weres! & e Raa g erar 21

c |e=re - ﬂﬁﬁeaai?%alﬂﬁ Bl § Sl URde - HeeT & Aread ¥ Udhe-qfth1 qel 1

= | @ UY Jeqd &1 9Uf- BT § &l P & 52 & Tafd 32 $1 9l
JEESE | yrfieRi &1 Suaw gld 8|

A f6u U A edl § U Jot IR 1 I994 HIIU;

1. A-IV, B-1II, C-I, D-II

B

. A-IIL, B-IV, C-II, D-1
3. A-IL, B-L, C-IIL, D-IV

4. A-III, B-1V, C-I, D-II

Options :
1.1
2.2
3.3
4.4

Question Number : 36 Question Id : 34212315643 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which one of the following is known as the heart of sewage treatment?

l. Primary treatment

t-2

. Secondary treatment
3. Tertiary treatment

4. Advanced treatment
Options :
1.1
2.2
3.3
4.4
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Question Number : 36 Question Id : 34212315643 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fafaRad o O {64 U &1 STaad e (a9 dietie) & g6d & U 4 \HI Sidl g2
. UTY Qe

2. fgdias® eH
3. Al e

4. 39d eE

Options :
1.1
2.2
3.3
4.4

Question Number : 37 Question Id : 34212315644 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are true about class I and class II ozone depleting substances?

A. Ozone depleting potential of class-I substances are far more than class II
B. Ozone depleting potential of class II substances are far more than class I
C. All chlorofluoro carbons belong to class IT ozone depleting substances
D. HCFC-21 belongs to class IT ozone depleting substance

E. Class-I contains fully halogenated gases

Choose the correct answer from the options given below:

1. A. D and E only
2.B, C and E only
3.A.Cand D only

4. C,D and E only

Options :
1.1
2.2
3.3
4.4

Question Number : 37 Question Id : 34212315644 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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7% 7 U & 971 Ud 11 3TN &fividh Jedl & aR H 9 82

A. T-1 Tcdl BT IS &ivres U1 d7-11 B Joi-1 § 9gd 31fe® o
B. T7-11 dcdl D1 SIS &0 YA 97i-1 b1 gof-T1 § dgd 319 3
c. G FARIGRI HIe a¥-11 3l i dd 9 Yalferd gid g1

D. U 9 UG Tl - 21 T9.11 357 v ded U Yafed g

E. 9.1 5 quid: gaiioHcs T gIdi |

i feu T fahedl § 9 a1 IR B 99 DIIT;
|.$ddA.DUFE

2. HAdB.CTUdE
3. FHdAA.CUE D
4. HAAC. DU E

Options :
1.1
2.2
3.3
4.4

Question Number : 38 Question Id : 34212315645 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What is the correct sequence of following drinking water treatment processes from initial to
final?

A. Filtration

B. Disinfection

C. Gravity settlement of large particles
D. Flocculation

Choose the correct answer from the options given below:
1.ABCD
2.8 B, B.C
3.C.D.A.B

4.C,D,B,A

Options :
1.1
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2.2
3.3
4.4

Question Number : 38 Question Id : 34212315645 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

FafaRad b4 & arl &1 UR™ ¥ 3id d& ffHfchar Ufthal &1 Yg! H 91 g

A. e (hedeH)

B. ﬁ?ﬂﬂﬁfifﬁ{%ﬂmﬂ]

C.d9 Il DI R=od AU

D. 3UH (TFAIRIIRH)
HId feu U f9hedl § 9 8T IR &1 994 DI

1. A, B, C.D

2.8, BB
32C.D.AB

4.C,D.B, A

Options :
1.1
2.2
3.3
4.4

Question Number : 39 Question Id : 34212315646 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Doha amendment 1s an amendment to.

1. Montreal Protocol
2. Kyoto Protocol
3. Stockholm Convention

4. Rio Summit
Options :
1.1
2.2
3.3
4.4
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Question Number : 39 Question Id : 34212315646 Question Type : MCQ Option Shuffling : No

g28.digialm.com/CAE/viewHtmIPDFAction.action

Correct Marks : 2 Wrong Marks : 0
<IgT YRMEH, SHHT U Y2 ©:
1. Aiiegd Uieidid
2. 1T Uieldid
3. Widhgied grleH
4. T R v e

Options :
1.1
2.2
3.3
4.4

Question Number : 40 Question Id : 34212315647 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

Match the List-T with List-IT

LISTI LISTII
{Sustainable Development Goal (SDG) (SDG No)
A | Clinate action I |sDG 12
B. |Life on Land II. |SDG 13
C. |Fesponsible consumption and production | III. | 5DG 14
D. |Life below water IV. | SDG 15

Choose the correct answer from the options given below:

1. A-1, B-III, C-II, D-IV

2. A-III, B-1, C-1V, D-II

3. AL B-1IV, C-III, D-1

4. A-1I, B-IV, C-1, D-IIT

Options :
1.1
2.2
3.3
4.4
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Question Number : 40 Question Id : 34212315647 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

AT 1S 1Y &I 11 DT e BHifoy

I I
(Umﬁuﬁm?ir&m@ﬁhﬁ) mﬂé@m
A |Saarg febar I |THshl 12
B. (YA R EET 11 (Thaisl 13
C. | 3Rard SUHRT Ud 316 | 111 |UgSiell 14
D. | 5@ & i Sflaq IV, |TEEt 15

i feu 71U fad el § 9 T8t STk &1 994 DIfIT:
1. A-I, B-IIL, C-II, D-IV
2. AL B-1, C-IV, D-II
3. A-IL B-IV, C-IIL, D-I

4. A-II, B-1V, C-1, D-III

Options :
1.1
2.2
3.3
4.4

Question Number : 41 Question Id : 34212315648 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The New Education Policy, 2020 envisages making all learners:

1. Social volunteers

t2

. Efficient administrators
3. True global citizens

4. Spiritual persons

Options :
1.1
2.2
3.3
4.4
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Question Number : 41 Question Id : 34212315648 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

s e =ifd, 2020 ¥ Wt fRreniegl of Hgfearad 94 & URb - 1 7S ¢
1. GHEISS WaUad (dTeifedr)

2. B UMD
3. AR(dD di%d ARG
4. SeTfdS Afad

Options :
1.1
2.2
3.3
4.4

Question Number : 42 Question Id : 34212315649 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The Kanya Mahavidyalava. an Arva Samaji School, was established in 1896 by:

1. Bhai Veer Singh

t-2

. Agva Kaur
3. Bhai Takht Singh

4. Lala Devraj

Options :
1.1
2.2
3.3
4.4

Question Number : 42 Question Id : 34212315649 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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ST el deTerd AHS AT Whdl & =TG- Y 1896 H HHTRId SAfdd gRI 61 T8 4i:
HIS dR g

SR DR

LTS e g

4, STl GaRTSl

Options :
1.1
2.2
3.3
4.4

—

f-2

L8]

Question Number : 43 Question Id : 34212315650 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The major recommendations of the Radhakrishnan Commission are:

A. Transfer of urban universities to rural areas

B. Setting up of rural universities

C. Development of research in agriculture, commerce, law, science and technology
D. Making English language as the medium of instruction at all levels of teaching
E. Focus on student's Welfare

Choose the correct answer from the options given below:

1. A, Bonly
2.B,C,Donly
3.C.D.E only

4.B, C, E only

Options :
1.1
2.2
3.3
4.4

Question Number : 43 Question Id : 34212315650 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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RIS SR Bl T SR &

A. 91831 fayfaemerl &1 urHior &t H IR

B. UTHIUT gy faereral &1 9|

C. Pfty, aIfrsy, i, fag SR Ureiffe! & SryH &1 [ |
D. &1 & gyt TRl U 3iUSH HI9T &1 e &1 H1eaH 491
E. B & &l R &H digd S|

- feu U faded! ¥ FpT IR B 90 HIST:
1. ®dd A, B
2. $HddB. C.D
3.$HddC. D, E
4. HIAB. C. E

Options :
1.1
2.2
3.3
4.4

Question Number : 44 Question Id : 34212315651 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following Ancient Texts in chronological order.

A. Rig Veda

B. Lilavati

C. Aryabhativa
D. Arthasastra

Choose the correct answer from the options given below:

1. A,C,D,B

f2

A DC. B
3.B.C,;D, A

4.A,B,D,C

Options :
1.1
2.2
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3.3
4.4

Question Number : 44 Question Id : 34212315651 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frafead U= 94 &1 SIddhd & 3R Haid il
A PG
B. dicirddl
C. MUY
D. YRR

A fGu U A edl § 9 T 3R &1 994 DifeiL:

1. A,C,D,B

I

A DC. B
3.B,C,D, A

4.A,B,D,C

Options :
1.1
2.2
3.3
4.4

Question Number : 45 Question Id : 34212315652 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match the List-T with List-IT

LISTI LISTII
Authors Works
A |Pingal [. |Lilavati
B. |Panini II. |Chhandasastra
C. | Arvabhatta I11. | Astadhyayi
D. |Bhaskaracharya | IV. | Aryabhativa

Choose the correct answer from the options given below:
1. A-II. B-1V, C-II1, D-I
2. A-IIL, B-IL C-IV, D-1
3. AL B-IIL, C-IV, D-I

4. A-1, B-III, C-IV, D-II

Options :
1.1
2.2
3.3
4.4

Question Number : 45 Question Id : 34212315652 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e Hifoy

1 g
T 1. |<iicmadt
qifort 1. |@card

YT 1L | 3{ETeaTd!
yreREE | IV | emEE

A fou U fasedl # U Igt 3R &1 994 DIfoIU:

1. A-II, B-1IV, C-1I1, D-1

olo|w|r

2. A-III, B-1I, C-IV, D-I
3. A-II B-III, C-IV, D-1

4. A-1, B-III, C-1IV, D-II

Options :

1.1

2.2

3.3

4.4
Sub-Section Number : 3
Sub-Section Id : 342123614
Question Shuffling Allowed : No

Question Id : 34212315653 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group

Comprehension Questions : No Question Pattern Type : NonMatrix
Question Numbers : (46 to 50)
Question Label : Comprehension

Read the passage carefully and answer the questions that follows:

A famine in China from 1958 to 1960 estimated to have killed about twenty-five million people.
The reason why that’s called a political crime-an ideological crime-which was discussed in most
detail by Amartya Sen: it’s part of the work for which he won the Nobel Prize. Sen is an
economist who treated this as an ideological crime for food reasons. He said it wasn’t a matter of
intent: they didn’t intend to kill anybody. It’s just that the ideological instructions were such that
it happened. It was a totalitarian state where no information about what was happening ever got
back to the center. They couldn’t take any action because that’s what happens in a totalitarian
state. So it was a reflection of the totalitarian instructions, a huge massacre that wasn’t intended.
They didn’t intend to kill twenty-five million people, but it was still a major massacre, and it’s
correct to call it one of the major atrocities of the twentieth century, and the worst single

component of the crimes of Communism.

Sub questions
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Question Number : 46 Question Id : 34212315654 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What period did the famine in China, described in the passage, occur?

1. 1945 to 1948

I

. 1958 to 1960
3. 1965 to 1968

4. 1972 to 1975
Options :
1.1
2.2
3.3
4.4

Question Number : 47 Question Id : 34212315655 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

According to the passage, how many people are estimated to have died in the famine in China?

1. 15 mullion

[

. 25 million
3. 35 million

4. 45 million
Options :
1.1
2.2
3.3
4.4

Question Number : 48 Question Id : 34212315656 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

who discussed the famine in detail and considered it an ideological crime?
1. Karl Marx
2. Amartya Sen
3. Noam Chomsky

4. T. S Eliot
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Options :
1.1
2.2
3.3
4.4

Question Number : 49 Question Id : 34212315657 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

According to the passage. what was the main reason for which the famine occurred in the
totalitarian state?

1. Intentional government polices

I

. Unpredictable natural disasters
3. Foreign interventions

4. Lack of information reaching the central authorities

Options :
1.1
2.2
3.3
4.4

Question Number : 50 Question Id : 34212315658 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

How does the passage classify the famine in terms of twentieth-century atrocities?

1. A deliberate genocide

f-2

. A minor event
3. an unavoidable disaster

4. One of the major atrocities

Options :
1.1
2.2
3.3
4.4

Question Id : 34212315653 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (46 to 50)
Question Label : Comprehension
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frrafifEa e &1 wryde e ok 39% ae i3 U uat & 3w difvte:

ay 1958 T 1960 A 914 H TS giel T T 25 Taferad €l & IR S &1 34 fdar a1
¢ 1 34 HRUI Y TH AeHlidd URY — Uh ddiRd WY el T ¢, D! 3Fd 4 5
gafftre fawgd o=l 31, T8 301 39 Bid &I YT 8, Forgd o1y Il Fidd IR siar| I
T YRl ¢, TS5 J9fad BRI Y 38 Udh ddIid 3Ry & =9 H AF1| 35iH $el fh
g 1gd & Al g1 4T: d fhdl &l ARAT 981 digd 41 g hdd a1 ¢ fb dd1iey J=1u
24 g ®l Al fb Tg gl /1| =i U GdgAIdD Iy U1, gl il 9fed gl Xl Ul, 3Hd! Yol
<18 Gl db g1 Ugd el 411 d IS BRAls gl B b Hifdh U Gdqdicdds IAd H U]
gIdl o1 29I, I8 Jaudids Y13l &l ufdfd g, g U d3] Y8R U, forgd Ui
SRIGT 8T AT 3ADT 330aT 25 Al arff &1 IR S1a- &1 el o1, iR +f 78 U uga 2y
RYUGR U1, 3R Y &Yl Adlsd] & YIT HAERI H U U, 3R YAl & W1 &1 Uh
dGR UZh Dol Ugl ol

Sub questions

Question Number : 46 Question Id : 34212315654 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Sugdd T aftid <19 gftfer g safy o afed gamym
1. 1945 T 1948

1958 F 1960

[

3. 1965 U 1968

4.1972 ¥ 1975

Options :
1.1
2.2
3.3
4.4

Question Number : 47 Question Id : 34212315655 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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YU M & SFER = T US gftiar ¥ fda dlvl & AR S &1 301 fhar T ge
1. 15 fAferma

-2
-2
A

4. 45 Taferoq

Options :
1.1
2.2
3.3
4.4

Question Number : 48 Question Id : 34212315656 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fope dH § US gitiel B faxgd ol 3t 3R 34 U ddRed 3URTe HHED
1. Tl Ty
2. 3
3. [T R

4,91 9. gfeme

Options :
1.1
2.2
3.3
4.4

Question Number : 49 Question Id : 34212315657 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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SUYdd T & IR Y 8 SR Y Ydaqdidid ol H gie IsT U
G WRBR Hifqgt

. 3YATFHT UIp T SMue
fac=l gwem
4. B9 WfUPTRAT 9 Y1 Uga Bl 3fHId

Options :
1.1
2.2
3.3
4.4

—

f-2

L8]

Question Number : 50 Question Id : 34212315658 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

SUad el A4 Tl & AHAER! & Y H gfifel & aiffpd dHed g2
. S-S a1 T/ U RUGR
2. U HH Hel
3. U® 3uivgr fauar
4. A AR 0 9 Uh

Options :

1.1

2.2

3.3

4.4

Tourism Administration and Management

Section Id : 342123207
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 92
Number of Questions to be attempted : 92
Section Marks : 200
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 342123615
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Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 34212315659 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Who is known to have said,
“The traveller sees what he sees. The tourist sees what he has come to see.”

1. Leiper
2. Karl Marx
3. G.K. Chesterton

4. Stanley Plog
Options :
1.1
2.2
3.3
4.4

Question Number : 51 Question Id : 34212315659 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fgfaRad duA fHa$T o2
I B S S0 dl 5, 98 <adl §, 9% UP Wied a8 oadl g, ol 61+ 9g g l”

1. AR

2. I AT

3. it . TR
4. T

Options :
1.1
2.2
3.3
4.4

Question Number : 52 Question Id : 34212315660 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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After the second world war, the two decades 1960's and 1970's showed the strong growth of
tourisms but subsequently it marked the delay in the industry. To re- evaluate and redefine the
objectives of social tourism. *Declaration of Montreal’ was proclaimed in:

1. 1986

[

. 1990
3. 1996

4. 1999
Options :
1.1
2.2
3.3
4.4

Question Number : 52 Question Id : 34212315660 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Eﬂﬁﬁ%{ o U, 1960 3R 1970 & G &h! H Yhed H dirs! dfe ol 718 fh=g 24
ﬂﬂﬁﬁﬁﬁéﬁé@ﬁﬂﬁﬁ?ﬁlﬂﬂﬁﬂ?%%ﬁﬁuﬁmmaﬁ?
Wu@aaﬁﬁsw Hifce 9N &d Fiitd &1 1S Al

1. 1986

t2

. 1990

3. 1996

4. 1999
Options :
1.1
2.2
3.3
4.4

Question Number : 53 Question Id : 34212315661 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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In its 2024 meet held at Astana. which country was included in SCO as the new member?

. Belarus

t2

. Poland
3. Srilanka

4. Nepal

Options :
1.1
2.2
3.3
4.4

Question Number : 53 Question Id : 34212315661 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

2024 H 3RAMTH g3 d6F H [y 2 &1 0. 41311 & 44 o & =u § Gieferd fdbar mn
U1

1. A g
2. Uicfs
3. gicdd
4. AU

Options :
1.1
2.2
3.3
4.4

Question Number : 54 Question Id : 34212315662 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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From the following select the historical site which has been recognized as "UNESCO World
Heritage Site' by the 46 World Heritage Committee

1. Ram Mandir, Ayodhya

[

. Gumbaz, Srirangapatna
3. Char Minar, Hyderabad

4. Roval Burial Mounds of the Ahom dvnasty, Assam.
Options :
1.1
2.2
3.3
4.4

Question Number : 54 Question Id : 34212315662 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Fafaiad 9 39 Uideiid R &1 98- & 5[ 46 di fay f9rad 9iifd gr1 gl fay
{3 R & =4 H 31 &1 7T g2

1. M AR, e

2. TS, JRATgEl
3. IRHAR, gaXIEIG
4. 3T IS, 3H & MK Helg AN R

Options :
1.1
2.2
3.3
4.4

Question Number : 55 Question Id : 34212315663 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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The study of the shape of the earth's land surfaces and the spatial distribution of continents and
islands, is called as

1. Biogeography

(]

. Climatology
3. Geomorphology

4. Physiography

Options :
1.1
2.2
3.3
4.4

Question Number : 55 Question Id : 34212315663 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

g2l &bl Y dg & bR 3R el ud giul & wiIfd faaior ol 3984 Hgdldl g -
BECEUIS
2. Sy fag
3. Yfa=uuy faqH
4. Yifde ya

Options :
1.1
2.2
3.3
4.4

Question Number : 56 Question Id : 34212315664 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Which one of the following is the part of Benelux Countries?

1. Switzerland
2. Austria
3. The Netherlands

4. Portugal

Options :
1.1
2.2
3.3
4.4

Question Number : 56 Question Id : 34212315664 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

faferRad & ¥ &9 94dgg o2 | I g2
| Faeds

2. 3T

Ll

3, Alexdls
4. Qe

Options :
1.1
2.2

3.3
4.4

Question Number : 57 Question Id : 34212315665 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which is not a part of the Baltic countries?
1. Latvia
2. Lithuania
3. Astonia

4. Slovenia
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Options :
1.1
2.2
3.3
4.4

Question Number : 57 Question Id : 34212315665 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

BT difecd =i & i T8l 8
L. Sdiaan
2. fayanfaan
3. SR
4. TdfTar

Options :
1.1
2.2
3.3
4.4

Question Number : 58 Question Id : 34212315666 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

From the following identify the Indian Journal which enjoys the SCOPUS status in the academic
world (2023) ?

1. International Journal of Hospitality and Tourism system.
2. Journal of Tourism :An International Journal
3. Atna Journal of Tourism studies

4. Journal of Hospitality, Application and Research

Options :
1.1
2.2
3.3
4.4

Question Number : 58 Question Id : 34212315666 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 66/187



8/31/24,10:11 PM g28.digialm.com/CAE/viewHtmIPDFAction.action

ﬁ%ﬁ@a%ﬁwww{@ﬂw}aﬁwﬁw HBIGHS Sd H WHI10Y
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1. SERARF S 3 gifueferd Te ey fien
2. S A TR US e S
3. AT SHd 3 IRT WSS
4. S d 3w gifeqeferd], ufedh e s Rad
Options :
1.1
2.2

3.3
4.4

Question Number : 59 Question Id : 34212315667 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Ramsar, where convention on wet lands was held in 1971, is located in:

l. India

b

. Iran
3. Pakistan

4. Uzbekistan
Options :
1.1
2.2
3.3
4.4

Question Number : 59 Question Id : 34212315667 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. HIRd

e
3. OifhedH
4, I &M

Options :
1.1
2.2
3.3
4.4

f-2

Question Number : 60 Question Id : 34212315668 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which amongst the following musical instruments is not a wind instrument?

l. Flute
2. Madaswaran
3. Shehnai

4. Veena
Options :
1.1
2.2
3.3
4.4

Question Number : 60 Question Id : 34212315668 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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f-2

4

gl
AR
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dfom

Options :

1.1
2.2
3.3
4.4

Question Number : 61 Question Id : 34212315669 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Moti or Pearl mosque was built at :

1

t-2

L8]

. Jodhpur
. Lahore

. Shahjahanabad

4. Kabul

Options :

1.1
2.2
3.3
4.4

Question Number : 61 Question Id : 34212315669 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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f-2

L8]

4. dldd
Options :
1.1
2.2
3.3
4.4

Question Number : 62 Question Id : 34212315670 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Who commanded the Rani Jhansi army in the Subhash Chandra Azad Hind Fauj?

1. Aruna Asif Ali

t-2

. Lakshmi Bai Sehgal
3. Sarojini Naidu

4. Begum Hazrat Mahal

Options :
1.1
2.2
3.3
4.4

Question Number : 62 Question Id : 34212315670 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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f-2
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4
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Options :

1.1
2.2
3.3
4.4

Question Number : 63 Question Id : 34212315671 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

g28.digialm.com/CAE/viewHtmIPDFAction.action

First time the road from Peshawar to Bengal was constructed by:

1

t-2

. Emperor Ashoka
. Dharmapala

. Muhammad bin Tughlaq

4. Sher Shah Suri

Options :

1.1
2.2
3.3
4.4

Question Number : 63 Question Id : 34212315671 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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1.1
2.2
3.3
4.4

Question Number : 64 Question Id : 34212315672 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

[

L8]

1. JHIC =P

HUT
R A CE GURED

4. TRAE G

Options :

In India, the first metro rail was introduced on 241 October 1984 at

-2

L¥S]

4

. New Delhi
. Mumbai
. Calcutta

. Bangalore

Options :

1.1
2.2
3.3
4.4

Question Number : 64 Question Id : 34212315672 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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3. hddhdl
4 ST

Options :
1.1
2.2
3.3
4.4

—

f-2

Question Number : 65 Question Id : 34212315673 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The banner under which the state- owned Canadian National Railways were combined to operate
rail services in 1972, is known as :

1. CAN Rail

2

. CNR Rail

3. CPR Rail

4. VIA Rail
Options :
1.1
2.2
3.3
4.4

Question Number : 65 Question Id : 34212315673 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. B

2. HITAR ¥
3. Hidl3m ¥
4. ST

Options :
1.1
2.2
3.3
4.4

Question Number : 66 Question Id : 34212315674 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Born in Wylam, England, a self-taught engineer, who pioneered a steam locomotive that ran on
rails and built the world's first full fledged steam railway, the Liverpool and Manchester line,
known as “father of railways’, is

1. George Stephenson
2. Edward Pease
3. John Stevens

4. John Bull
Options :
1.1
2.2
3.3
4.4

Question Number : 66 Question Id : 34212315674 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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SISl W UeaA
.Usds U
3. Sl ®1d=g

4. S 9d
Options :
1.1
2.2
3.3
4.4

[a—

R

Question Number : 67 Question Id : 34212315675 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Thomas Cook organised the first tour package by rail from Leicester to:

1. Loughborough

(]

. Campbeltown
3. Glasgow

4. Barra
Options :
1.1
2.2
3.3
4.4

Question Number : 67 Question Id : 34212315675 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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3. TR
4. 911

Options :
1.1
2.2
3.3
4.4

f-2

Question Number : 68 Question Id : 34212315676 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Fare Breakepoint in international airfare calculation is applicable when

1. Distance between two stopover points or TPM points is equal

t-2

. There is farthest TPM point in terms of the highest MPM
3. Ticketed Point Mileage (TPM) > Maximum Permitted Mileage (MPM)

4. MPM=TFM
Options :
1.1
2.2
3.3
4.4

Question Number : 68 Question Id : 34212315676 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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4. TAUIEH < ddign

Options :
1.1
2.2
3.3
4.4

f-2

L8]

Question Number : 69 Question Id : 34212315677 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Find airfare construction term that is applicable if the EMA (Extra Mileage Allowance) is nil or
msufficient and it is obtained by dividing TPM (Ticked Point Mileage) by MPM (Maximum
Permitted Mileage) :

1. EMA

]

. EMS

3. HIP

4. BHC
Options :
1.1
2.2
3.3
4.4

Question Number : 69 Question Id : 34212315677 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. JTAT
3Ty
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4. gl

Options :
1.1
2.2
3.3
4.4

R

[F8]

Question Number : 70 Question Id : 34212315678 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Correct direction of cities in air travel in PN as IATA global indicator is

l. HRG- YVR - LON

(]

.SYD -LAX - MEX - SCL
3.BJS -JNL - SFO

4. SIN - MRU - JNB - SAO
Options :
1.1
2.2
3.3
4.4

Question Number : 70 Question Id : 34212315678 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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l.HRG - YVR - LON

2

.5YD - LAX - MEX - SCL
3.BJS - JNL - SFO

4. SIN - MRU - JNB - SAO

Options :
1.1
2.2
3.3
4.4

Question Number : 71 Question Id : 34212315679 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Chenna Poda 1s a very famous dessert from:

1. Kerala

(]

. Gujarat
3. Odisha

4. Himachal Pradesh
Options :
1.1
2.2
3.3
4.4

Question Number : 71 Question Id : 34212315679 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

=1 UIST $gl B 956 Uit (HEH 82
1. B
2. ORI
3. IS
4. fearaa uem
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Options :
1.1
2.2
3.3
4.4

Question Number : 72 Question Id : 34212315680 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Catering for armed forces is also referred to as:

1. Industrial Catering
2. Welfare Catering
3. Hospital Catering

4. Institutional Catering

Options :
1.1
2.2
3.3
4.4

Question Number : 72 Question Id : 34212315680 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

UL dal o el @H-UTH/ (a2 1 Hedldl o7
1. ST @H-gH/3Ta

ST WH-UH/ 31T

B

3. 3[EdTel WH-Ur/3H1deg

4. UM WH-UT/ 31

Options :
1.1
2.2
3.3
4.4

Question Number : 73 Question Id : 34212315681 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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The Popular GI tagged Indian Sweet ‘Rasagola’ is from the state of:

1. West Bengal

t2

. Odisha
3. Bihar

4. Maharashtra
Options :
1.1
2.2
3.3
4.4

Question Number : 73 Question Id : 34212315681 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Uiy Sil3fTg <91 drell YR HaT8 i edl fhy Iod § Hdfed g2
1. OfgEt &1
. 3fifezm

3. fagR
4. WERTY

Options :
1.1
2.2
3.3
4.4

[

Question Number : 74 Question Id : 34212315682 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The commonly used Airline Code for Asian Meal is:

1. ASML

f-2

. LSML

3. DBML

4. CHML
Options :
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1.1
2.2
3.3
4.4

Question Number : 74 Question Id : 34212315682 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

URATE YIS & el Q= Wk gdls ddl hIs &1 g2

1. ASML

f-2

. LSML
3. DBML

4. CHML

Options :
1.1
2.2
3.3
4.4

Question Number : 75 Question Id : 34212315683 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The total accumulated value or worth of a brand is

1. Brand Positioning
2. Brand Equity
3. Brand Identity

4. Brand Essence
Options :
1.1
2.2
3.3
4.4

Question Number : 75 Question Id : 34212315683 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 76 Question Id : 34212315684 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

When Taj Group of Hotels introduces its existing products and services to new customers, it is a
case of :

1. Market development
2. Market penetration
3. Market diversification

4. Market segmentation

Options :
1.1
2.2
3.3
4.4

Question Number : 76 Question Id : 34212315684 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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2. JINR 3fdded
3. aoTR fafafera o
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Options :
1.1
2.2
3.3
4.4

Question Number : 77 Question Id : 34212315685 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

“Business can be managed by maximisation of production and resultant lower unit cost and low
price .” With which concept of marketing is this statement associated?

1. Production Concept
2. Product Concept
3. Sales Concept

4. Marketing Concept

Options :
1.1
2.2
3.3
4.4

Question Number : 77 Question Id : 34212315685 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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R
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3. fahl Db el

4. faUuE et
Options :
1.1
2.2
3.3
4.4

Question Number : 78 Question Id : 34212315686 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

When TITAN Watches planned the launch of “FastTrack' watches, it targeted students of metros
and mini metros. This basis of market segmentation 1s:

1. Demographic

[

. Geographic

s

. Sociocultural

4. Psychographic

Options :
1.1
2.2
3.3
4.4

Question Number : 78 Question Id : 34212315686 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 79 Question Id : 34212315687 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which one of the following organisations was established as per recommendations of L.K. Jha
Committee or Adoc Committee on Tourism?

1. Indian Institute of Tourism and Travel Management
2. Hotel Corporation of India Ltd.
3. Institute of Hotel Management and Catering Technology

4. Food Craft Institute of India

Options :
1.1
2.2
3.3
4.4

Question Number : 79 Question Id : 34212315687 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 80 Question Id : 34212315688 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which is not a privatisation model for tourism industry in India?

1. Build. Operate and Transfer

t-2

. Management Contract

L8]

. Ownership Contract

4, Trade Sale
Options :
1.1
2.2
3.3
4.4

Question Number : 80 Question Id : 34212315688 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :

1.1
2.2
3.3
4.4

Question Number : 81 Question Id : 34212315689 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

Which framework of community participation was introduced by Arnstein in 19697

1

t-2

. Ladder of Citizen participation
. Pyramid of community participation

. Triangle of community collaboration

4. Circle of community empowerment

Options :

1.1
2.2
3.3
4.4

Question Number : 81 Question Id : 34212315689 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 82 Question Id : 34212315690 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

When five year plan adopted the code of conduct for safe and honorable tourism signed by key
stakeholder associations and over 100 industry leaders ?

1. 9% Five - year plan

t-2

. 10™ Five - year plan
3. 11M Five - year plan

4. 12! Five - year plan
Options :
1.1
2.2
3.3
4.4

Question Number : 82 Question Id : 34212315690 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :

1.1

2.2

3.3
4.4

I

Question Number : 83 Question Id : 34212315691 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In case we increase the amount of direct supervision on the work area (x), there would be a
charge in the worker productivity (v) but under the conditions of the complexity of the task being
performed (z). In this statement z represents :

1. Dependent variable
2. Independent variable
3. Moderating variable

4. Mediating variable

Options :
1.1
2.2
3.3
4.4

Question Number : 83 Question Id : 34212315691 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. 3T9d =R
2. WA
3. Hadh ™R

4. HHRH =X

Options :
1.1
2.2
3.3
4.4

Question Number : 84 Question Id : 34212315692 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Research that focuses on *Collecting either the primary or secondary data. using an unstructured
foramt or informal procedure to interpret’ is:

1. Casual Research
2. Descriptive Research
3. Exploratory Research

4. Predictive Research

Options :
1.1
2.2
3.3
4.4

Question Number : 84 Question Id : 34212315692 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 85 Question Id : 34212315693 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following expressions is used in the research report when two or more successive
foot notes refer to the “previously cited” work?

1. loc. cit
2. op. cit
3. et. seq

4. pre. cit

Options :
1.1
2.2
3.3
4.4

Question Number : 85 Question Id : 34212315693 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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oI Gl 4T 3T IcRddl/chiHd ure (e <gd # 3GRd & &f YaHd oxdl g, df A
yidded 4 Fafeifad O 9 a1 e SudiT ugdd fdhar §iidl g2

1. loc cit

2

. op cit
3. etseq

4. pre cit

Options :
1.1
2.2
3.3
4.4

Question Number : 86 Question Id : 34212315694 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The following statements are correct, except :

1. The Kruskal-wallis H-test is score dependent

2. t-test is applicable when samples are taken from population having identical variables.

L

. Scatter plot shows relationship between two variables.

4. A normal distribution curve depends on mean and standard deviation

Options :
1.1
2.2
3.3
4.4

Question Number : 86 Question Id : 34212315694 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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FgfeiRgd 9 U &H Ty Uh ol Bioh 3 Gl HYF 9d g2
 HYDTA-alery TI-URIE0 0 (FBR) YT |

. Ofd T TR aTell SR U T4 ford Sd € a 08107 Sua B
3. Whe Wie &l =R & did dde gATd1 3|

4. T G faaRor e, 198 3R A fd=ei W 34 g |

Options :
1.1
2.2
3.3
4.4

—

f-2

Question Number : 87 Question Id : 34212315695 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which one of the following statements is not correct?

1. Net Profit Margin Ratio is equal to Profit After Tax divided by Sales.

t-2

. Funds from depreciation are a source of funds available to a tourism firm
3. Discounted pay back measure of capital investment does not ignore time value of money

4. Increase in depreciation results in lower net present value

Options :
1.1
2.2
3.3
4.4

Question Number : 87 Question Id : 34212315695 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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fAfeiRad # U S99 $49 94 el 62

L. gg%wwmﬁq ST, R U Y DI faeb! T [GUIISTT S IR U AR & T
|

2. 3aed U Hieai fodl uded wH & Uy 3ues [Tl &1 Hd ¢ |

3.r§ﬂﬁ§wﬁamuaw(mﬁéﬁqﬁm?ﬁwmﬁmé@ﬁ
GG

4. 3degA ¥ 9fg & gRUMEEY (49 fFad 9d0H 4o ®idd gidr gl

Options :
1.1
2.2
3.3
4.4

Question Number : 88 Question Id : 34212315696 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Achievement. power and affiliation are the important needs that help explain motivation. With
which theory of motivation is this statement associated?

1. McClellands Theory of Needs
2. Maslow's Hierarchy of Needs
3. Varoom's Expectancy Theory

4. Skinner's Behaviorism Theory

Options :
1.1
2.2
3.3
4.4

Question Number : 88 Question Id : 34212315696 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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JUdle, Fidd 3R Yo dl Agayul Saghdit § Sl HTUURON BT IRAT S T Gl
Sl g1 AR & 69 < O g8 dyd ddg o2

. Haicls BT 31aegehdl Riaid

2. HT%AId BT GG d] QTS| [sid
3. 5 T U f¥gid

4. PR &1 agRalG Agid

Options :
1.1
2.2
3.3
4.4

Question Number : 89 Question Id : 34212315697 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Formal organizational network that relies on a central figure to act as the conduit for all group
communication and facilitates the emergence of a leader, is called:

1. Chain Network
2. Wheel Network
3. All Channel Network

4. Grapewine Network

Options :
1.1
2.2
3.3
4.4

Question Number : 89 Question Id : 34212315697 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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il T YN0l & foU aIfgdhl & U § D1 $Hd & ot bl iy ofad IR R g
arel 9T {8l Adl & Saad I G d &1 aTel =R Y3-1dHE "cdd dedldl g -

1. $Gdr Hedd
2. 9 Heddh
3. gHl AT AAd Hedd

4. SF-9dIg (AIUdrs) Hcda

Options :
1.1
2.2
3.3
4.4

Question Number : 90 Question Id : 34212315698 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Big Five Model proposes that five basic dimensions encompass most of the significant variation
in human personality. Theses dimensions do not include:

1. Proactivity
2. Emotional stability
3. Extraversion

4. Agreeableness

Options :
1.1
2.2
3.3
4.4

Question Number : 90 Question Id : 34212315698 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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I8¢ Uld Hisd URATiad Bl ¢ b Ut 5 S{TamH AHd Afddd H Hgdqul faged &1
SfTYBTT HIT GHITGE Bl § | I SATHI H 1 Wi el o2

L. 39gfhadr

2. HIgATHS W1

3. TReTaraH

4. gHAAWR G

Options :
1.1
2.2
3.3
4.4

Question Number : 91 Question Id : 34212315699 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the location of the following historical buildings from North to South India?

A. Pari Mahal

B. Golden Temple

C. Shah Begum's Tomb
D. Krishnanattom Temple

Choose th correct answer from the options given below:

1.A. B, D, C

I

B, B

3:ABED

4.D.C.B.A
Options :
1.1
2.2
3.3
4.4

Question Number : 91 Question Id : 34212315699 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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FgfIRad UfagTiie HaHl @l IR U Gi&U YR B 3R Haiyd &1

A. ORAgd
B. WUl "R
C. g §1H &1 HHaERI

D. PUIHIEH HfeT
A fGu U A edl § O 8T 3R &1 904 DifoiL:

1..A, B, D, C

[

S8, Bk
34.B, €D

4.D,C.B,A

Options :
1.1
2.2
3.3
4.4

Question Number : 92 Question Id : 34212315700 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The major breakthroughs for sustainable development during 1990s include:

A. Basic needs and social welfarist (Charity) approach

B. First UNDP Human Development Report with Human Development Index
C. Rostow's stages of growth

D. International Development Targets

E. Emphasis on grassroot participation, sustainable livelihoods

Choose the correct answer from the options given below:
1.A. C.DOnly
2.B,D, E Only
3.C,/D,E Only

4.D. B, AOnly

Options :
1.1
2.2
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3.3
4.4

Question Number : 92 Question Id : 34212315700 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

1990 & GR Fad f[dH &1 Ugd "ge-r3i § 2miHa g -

A. YR ATl 2R AP DHeduEard] (&) _
B. M4 [db 1 Yddbid & 1Y UYH JuAS Ul SUNH -4 fabrg Rurd
C. IRC1 i gl a1l

D. SdRIVIY fdhTy deg

E. S YriiaR, TuRoiadd esifas )R 9

- feu T fadetl # 9 FoT IR &1 99 DIfIT:
1.HdAA, C, D

$HAdB. D, E

3. $HIdC. D, E

4.$dd D, B.A

Options :
1.1
2.2
3.3
4.4

[

Question Number : 93 Question Id : 34212315701 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Arrange the following lakes of India from North to South:

A. Chandratal

B. Sambhar Lake

C. Vembanad Lake

D. Wular Lake

E. Govind Ballabh Pant Sagar (Lake)

Choose the correct answer from the options given below:

1.A,D,E,B,C
2:B,C,AD.E
3.D,A,BE, C

4.E.B,C,D,A

Options :
1.1
2.2
3.3
4.4

Question Number : 93 Question Id : 34212315701 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

YR & FaieRad 3idl &1 3o 9 gléu & oF H aiad Hi |

A T=drd
B. G4 gid

C. dEATS 3

D. IR 3iid

E. Mfd< deoH Ud 9FR (3a)

o

-+ fGu T fasedl § 9 &gl IR &1 994 Sifeu:

1. A B E, B, C

2.B,C.A,D,E

J. A B E,C

4. E.B,C,D, A
Options :
1.1
2.2
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3.3
4.4

Question Number : 94 Question Id : 34212315702 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following dance forms from South India to North India:

A. Bharatnatvam
B. Kuchipudi

C. Thumar

D. Hikat

Choose the cerrect answer from the options given below:

1. C.D.BA

[

D, C. B, A
3.4.B, €D

4 A.C.B.D
Options :
1.1
2.2
3.3
4.4

Question Number : 94 Question Id : 34212315702 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fafafad Idi &1 gfar YR 9 3t URd & 61 H 0dfeyd Hi |

A. HddIRH
B. YS!
C. iR

D. fgdhId

A fGu U f[ddedl § O 8T 3R &1 904 DL

1. C.D.BA

[

D, C. B, A

34.B, €D

4. A.C.B.D
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Options :
1.1
2.2
3.3
4.4

Question Number : 95 Question Id : 34212315703 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following countries in the ascending order of their UTC Time Zone (0-10)

A. Afganistan
B. Bangladesh
C. India

D. UAE

E. Malaysia

Choose the correct answer from the options given below:

A, B Dl

B

DA E B
3. DLAC B E

4.E,D,C,B,A

Options :
1.1
2.2
3.3
4.4

Question Number : 95 Question Id : 34212315703 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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FgeRGd <=1 &I 39h1 UTC THY & (0-10) & RIS HH T AT B |

A. HIERAHE
B. S

C. HRd
D. gus
E. HaliR[l

A1 feu U faswhedl § ¥ gl IR B 99 DIIT:

1. A,B,C,D,E

[

.C,D,A.E,B
3. DA CBE

4. E,.D,C,B,A
Options :
1.1
2.2
3.3
4.4

Question Number : 96 Question Id : 34212315704 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks :

Arrange the following breakthroughs of International air transport in a sequential order of their
taking place:

A. Pan American Airlines inaugurated the SABRECRS

B. British Airways and Air France began passenger service on the supersonic Concorde airline

C. American Airlines flied the first transcontinental B-707 flight from Los Angles to New York

D. Pan American World Airways flied the first Boeing 747 “Jumbo Jet” plane with 352
passengers from New York to London

Choose the correct answer from the options given below:
1.B,D,A,C
2.C,AD,B
3. D;AB T

4.A,B,.C.D

Options :
1.1
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Question Number : 96 Question Id : 34212315704 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frafafad 2RigTg arg IRas &I gerell & 3d 1fed g+ & 2AshH H TafRud o3|
A. U 3RS UIRAISY 4 SABRECRS &l 3gHled |
B. foife2 ToRdS SR UgR BiY 9 YuRYIHS dlddls TR W gl 4dl 3iRY &l
C. 3HR® TIRAEA 1 9 Uoied Y <dld T Ugal URHSIEIU B-707 TllZe SR Bl |

D. U 3 des TIRAS H 352 ATl & Iy YYH ~Sidloie digil 747 [0 d =@l
dad db IS Wi

UIU [ddheul H 9 @87 IR &1 99 Difeiw:

o
1.B,D,A,C

il [ -

SIER

2. C.AD B
3. DA B C

4 A.B,C.D
Options :
1.1
2.2
3.3
4.4

Question Number : 97 Question Id : 34212315705 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Arrange the correct sequence of courses of a French Classic Menu:

A. Hors d' oeuvre - Potage - Oeufs / Farineux
B. Releve' - Sorbet - Roti

C. Poisson - Entree’

D. Dessert - Cafe

E. Légumes - Entremets - Fromage / Savoureux

Choose the correct answer from the options given below:
1. AB.C.D.E
2.8, C. B E; 1D
3B,A,C,E,D

4.A.D,B,C,E

Options :
1.1
2.2
3.3
4.4

Question Number : 97 Question Id : 34212315705 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Uhd Al d ool Yol & GIR/BRT (DIY) DT el 3hH Haedd Hi|

A BIU T IR - UICH - SHIgu-H/BIR-gH
B.Ydld - 9Rde -l

C. UI3HH - 3

D. SUC - dth

-+ fGu T fasedl § 9 &gl IR &1 994 Sifeu:

Lo By G B E

]

A CB.ED
3.B,A,C,E,D

4 A D B.CE
Options :
1.1
2.2
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3.3
4.4

Question Number : 98 Question Id : 34212315706 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following forts of India as per their location from North to South:

A. Amber Fort

B. Gobindgarh Fort
C. Daultabad Fort
D. Gingee Fort

E. Meharngarh Fort

Choose the correct answer from the options given below:
1.A,B,C,D,E
2B A F D
3D ABE

4.D,E,A,B,C

Options :
1.1
2.2
3.3
4.4

Question Number : 98 Question Id : 34212315706 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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HRd & (afaRad fodl /g of SR U léon 8 3! sfafyfd & or # HafRyd |

A. TR G
B. TNfd=<11g g7l
C. GIddTeTG gl
D. for=si g7l
E. Hg7E g1

i fu U fad el § 9 @81 IR &l 994 Diflu;

1.A,B.C.D.E

2.B.AECTD
3.C,D,A,B.E

4. D, E A B.C
Options :
1.1
2.2
3.3
4.4

Question Number : 99 Question Id : 34212315707 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks :

Consumers have deeper motives in relation to a products / brand that need to be uncovered.
Arrange the following needs as per Maslow's Hierachy of Needs starting from the basic needs:

A. Satisfy hunger

B. Economic Security

C. Sense of belonging

D. Need for recognition

E. Fruitition of one's capabilities

Choose the correct answer from the options given below:
A CEHBE
2By C B E
3B,C,D,E, A

4. C,A,B,D.E

Options :
1.1
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2.2
3.3
4.4

Question Number : 99 Question Id : 34212315707 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fodil IaTe/siis & Ufd IUHTaT B g SUURUNT BIcil ¢, forg H1aRd fhU o &t
ARG DHdl Bldl ¢ | Hdd & SaRgddisi & Aarea! RS & HyR Hafarad
SAID A3 DI HYRYT HTIH A3 U YF Hd gY Haiedd B

A. Y9 BT BB
B. T GR&f
C. Hdgdl D1 HI

D. UgdH &I 3Rl
E. W4 &I A1 &1 BeilHaA

T feu U fashedl § 9§ a1 IR B 99 DIfoIT;

1.A,C,D,B,E

2.8, B, C. DE
3.B,C,D.E.A

4.C,A,B,D,E

Options :
1.1
2.2
3.3
4.4

Question Number : 100 Question Id : 34212315708 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Arrange the historic turning points pertaining to the landmark resolutions for sustainable tourism
development in the world in sequence of their occurrence.

A. International year of ecotourism and mountaineering

B. The Brundtland report

C. The Stockhom conference resulting in the commission of world conservation strategy
D. The UN World summit on Sustainable Development

E. The UN General Assembly Declaration of New International Economic Order

Choose the correct answer from the options given below:
1. D.EACE
2B A E DG
3. €D EAB

4.E,C,A,B,D

Options :
1.1
2.2
3.3
4.4

Question Number : 100 Question Id : 34212315708 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fay o GuRiig ude f[9hr & U @i Rl Yhedl I ditd Uidgiiad ge-1sii &1 34d
qied giH & 0§ Hafed &1

A. RI¥T qgigaror 3R UddRIgu 9y

B. sicdls i

c. 199 TReur SR M | Widd g ardl WidoH Y
D. gu- fa% ¥dd fashrg guia-

E. JUH HeTHHT &I T4 ARITIT e oqawy Yeti gy

A feu U fawedl § ¥ a1 IR B 99 DIIU:

1.D,E.A,.C,B

2.B,A,E,D.C
3.C,D,E,A,B

4.E,C,A,B,D
Options :
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1.1
2.2
3.3
4.4

Question Number : 101 Question Id : 34212315709 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the schemes introduced by the Ministry of Tourism, Govt of India for strengthening
tourism ecosystem in sequential order of their occurrence:

A. National Integrated Database for Hospitality Industry (NIDHI)

B. Champion Services Sector Scheme (CSSS)

C. Adopt Heritage ““Apni Dharohar, Apni Pehchaan™

D. Pilgrimage Rejuvenation and Spiritual Augmentation Drive (PRASHAD)
E. Hunar se ROZGAR Tak (HSRT)

Choose the correct answer from the options given below:
1..A, D EB C
2ZBAEC.D
3. E; DB, C, A

4D, E A B,C
Options :
1.1
2.2
3.3
4.4

Question Number : 101 Question Id : 34212315709 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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e Ui Aoldd B & ot gded HATed, YR WHR gRT HRY 6 T8 T3
DHIeHH U IR B

A. IV Udhighd STfaed 3¢ Sreray (HY NIDHI)

B. ATE-g a1 &7 gie (i TY Ty Th)

D. AR T3S 3R seds Hae i (U9g)

E. g% 4 ISR (HSRT)

A fau U fasedl # 9 ¥8T 3R &1 994 Dol

LA D EB C

2B, AEC, D
3.E. D, B, C, A

4.D,E,A,B,C

Options :
1.1
2.2
3.3
4.4

Question Number : 102 Question Id : 34212315710 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following steps in the Factor Analysis in the order these are taken:

A. Preparation of Correlation Matrix

B. Factor Rotation

C. Deciding the factors to be retained in final solution
D. Substantive Interpretation

E. Checking the model - fit

Choose the cerrect answer from the options given below:
1.A,B,C,D,E
2.B,C,D,E, A
3.8, C. B, D F

4.B,D.A C.E
Options :
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1.1
2.2
3.3
4.4

Question Number : 102 Question Id : 34212315710 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

HNE (G H [FHTIRIT =R Bl 35 331U A & HH H A d 61|

A. Ygydy Afcqq o1 daRl

B. HRE Il

C. 3aH HIYE H 1 SH alcd dR®I & aR H H0g &1
D. Hgdyuf re]

E. HISd-flhe &l Sld Sl

4 fSu U faeedl § 9 F8T 3R 31 994 DHIfoIu:

Lo By G B E

2.B,C,D.E,A
3JA,C.B.D.E

4.B,D,A,C.E
Options :
1.1
2.2
3.3
4.4

Question Number : 103 Question Id : 34212315711 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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The framework for calculating Net Present Value (NPV) for analyzing capital budgeting decision
involves following steps. Arrange them in the sequence in which these are taken :

A. Make a capital budgeting decision

B. Estimate the project's future cash flows over its expected life

C. Determine the riskiness of the project and the appropriate cost of capital
D. Compute the project's NPV

E. Determine the project's initial cost of starting

Choose the correct answer from the options given below:
1.AB.C.D,E
2B C.D.EA
3. D;C.ABE

4.E,B,C,D,A

Options :
1.1
2.2
3.3
4.4

Question Number : 103 Question Id : 34212315711 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Uoil §oIdTy 0 [q=eyor & ot fHad adar O (U di di) &1 T0HET 6 g Suxdl |
FgfeiRgd TRoT Gidferd Bid B 1 4 TR0 &l 361 SH & hH H aiyd 1|

A. Uoll S91¢1 f0ig &1

B. URASHI & TAMRIA Sildd & el HiasT & U A s WaTg &l SHHM oI
C. GRS & SIRGH 3R Yol 1 SUgdd arTd &I fHeRor 61

D. GiRATSHT TG &1 T0HET A1

E. GRASHT 3RY & &1 YR 311 dRTd [HUiRd ST

A feu U fawedl § ¥ a1 IR B 99 DIIU:

LA B CIDE

B C.DE A
3. D C,AB.E

4.E,B,C,D,A

Options :
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2.2
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Question Number : 104 Question Id : 34212315712 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following formulations of international regulation and control of revelance to the
global travel and tourism industry in a sequential order of their occurrence

A. The convention for the protection and development of the marine environment of the wider
Caribbean Region

B. The Johannesbureg Declaration, creating the UN Commission on sustainable Development

C. Protocol for the prevention of marine pollution of the Mediterranean Sea by dumping from
ships and aircrafts

D. Manila Declaration addressed regionally in international agreements such as the Alpine
convention and the Antarctic Treaty

Choose the correct answer from the options given below:

LA B, D.C

2

.C,A,B.D
3B R A

4.C,D.A.B

Options :
1.1
2.2
3.3
4.4

Question Number : 104 Question Id : 34212315712 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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i3 AT 3R Y I & Ufd U SiaRig fafam iR s ot fafafafaat o1
3 "fed g & 3DHH H HafRyd |

A. 0D HRIGATS & THfadh GUal &I &0 3R faery gy
B. JU- YYRU fdh 9 ST Yioid &3 dTdl Sig-get| =gy
c.%ﬁﬁ?@ﬁ%&ﬂﬁ@@%@@%ﬂﬁ%@%@ﬂﬁ%ﬂm%@

D. 3{cUIg HHHHY 3R ierbicsd WY S iRy guzial # epia defad a-fidr gmon
- feu 1T fadeul # ¥ FT IR D1 997 SIST:

1.A,B,.D,C

2. CA,B,D
3.D,C, B, A

4. C.DADB
Options :
1.1
2.2
3.3
4.4

Question Number : 105 Question Id : 34212315713 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following stages in the conflict process in the organizations in the sequence of their
happening

A. Intensions

B. Cognition and personalisation
C. Potential opposition

D. Outcomes

E. Behaviour

Choose the correct answer from the options given below:
1.A,B,C,D, E
2.B,C.D,E. A
3B K E D

4.D,E,A,B,C

Options :
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1.1
2.2
3.3
4.4

Question Number : 105 Question Id : 34212315713 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e o Tuy /e uithar & HufiRad 9o & 39& 9fed 84 & oF I SaafRd a1

i feu T faw el § 9 a1 IR &1 98- DIIT:
1.A,B,C,D,E
2.B,C,D.E.A
3.C,B.AE.D

4. D, E,A,B,C
Options :
1.1
2.2
3.3
4.4

Question Number : 106 Question Id : 34212315714 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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On the model of Taj Mahal. queen Rabia Dourrani's tomb was built in Aurangabad . It is known
as:

A. Udaipuri Begum Tomb
B. Nur Jahan's Tomb

C. Bibi ka Magbara

D. Dilrus Banu's Tomb

Choose the correct answer from the options given below:

1. A, B Only
2.B.C, D Only
3. C.D Only

4. A, B, C Only

Options :
1.1
2.2
3.3
4.4

Question Number : 106 Question Id : 34212315714 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

droHgd & Hisd TR RIElG H I a1 gRiH &1 G ezl S=/1 741 47| 29 o/ fd =11
Y ST ST 82

A. 3Gl 4T 6] bR
B. R 98] &1 HHaR]

C. Sifdll BT HHaRT

D. fGa=d a1l & HharT

Hid fau U fadheul § 9 F87 IR &l 99 BT
1.Hhdd A, B

2. $hdd B.C.D

3. Hdd C. D

4. hdd A, B, C

Options :
1.1
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3.3
4.4

Question Number : 107 Question Id : 34212315715 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Select the cities where Shalimar Bagh were developed by Shah Jahan:

A. Srinagar

B. Kabul

C. Sirhind

D. Lahore

E. Ahmadabad

Choose the correct answer from the options given below:
1. A B, COnly
2. A, COnly
3. A. D Only

4. A . C.D,E Only

Options :
1.1
2.2
3.3
4.4

Question Number : 107 Question Id : 34212315715 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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31 2ERI DT TG D gl AMgwiel gRI MR o1 A fhu 71w 2

A 9R
B. BIgd
c. Rfg<
D. AR
E. SlgHaldlq
i feu T fahedl § 9 a1 IR B 99 DIIT;
. HAAd A, B, C
HAd A, C
3. HAd A, D

4. HAAA,C.D.E

Options :
1.1
2.2
3.3
4.4

B

Question Number : 108 Question Id : 34212315716 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The World Climate Types, Cool Temperature Zone, Western Margin, include regions such as:

A. Belgium

B. California

C. Northern & Western France
D. Central Chile

E. The Netherland

Choose the correct answer from the options given below:

1. A, C, E Only

t2

. A, B, C Only
3.C.D Only

4. C, E Ounly

Options :
1.1
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2.2
3.3
4.4

Question Number : 108 Question Id : 34212315716 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fay Searg U Rl 1, =iidd I9ar &, gigdl fe-Rydae o fafalad § 9 oY & e g°

EIREUE

ETRILAIEE))

oy felt

A leu U [ddeul § 9 FgT 3R &l 99 HISIU:
|. Hdd A, C.E

" Hdd A, B. C

3. Hdd C.D

4. PAdC.E

Options :
1.1
2.2
3.3
4.4

HYNw e

]

Question Number : 109 Question Id : 34212315717 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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From the following identify the places where Gandhi Smarak Samgrahlaya are not located:

A, New Delhi
B. Sevagram
C. Nokha
D. Pugal

Choose the correct answer from the options given below:
1. A, B, C Only
2.B, C Only
3.C.D Only

4. B, C,D Only
Options :
1.1
2.2
3.3
4.4

Question Number : 109 Question Id : 34212315717 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fFafeRad | RIdl &1 999 &3 gl 7 WRE 9ugiad [Ud 96l g2

D. JiTc

4 fqU U fahed! # § F8 IR &1 99 BT
1.BdA A, B, C

HAd B, C

3.9 C. D

4.HddB,C.D

Options :
1.1
2.2
3.3

t-2
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4.4

Question Number : 110 Question Id : 34212315718 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following cities of India are listed in UNESCO World Heritage Sites?

A. JAIPUR

B. AGRA

C. KOLKATA

D. AHMEDABAD
E. KURUKSHETRA

Choose the correct answer from the options given below:
1. A, B, E Only
2. B, C Only
3. C.D Only

4. A. D Only

Options :
1.1
2.2
3.3
4.4

Question Number : 110 Question Id : 34212315718 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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URd & FEfafad & O S e gwa! 9y favrad -l ¥ Yeids 82

A. SR

B. 3R]

C. HIABIl
D. JgHaldlq
E HEgd

- feu U faded! ¥ FpT IR B 90 HIST:
1.Pdd A, B, E
2. BIAB. C
3.%dd C.D

4. HAd A. D

Options :
1.1
2.2
3.3
4.4

Question Number : 111 Question Id : 34212315719 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Airport codes of Calgary and Macau are:

A. CCS

B. MED
C.YYC
D. MFM
E.CUR

Choose the correct answer from the options given below:

1. A. B Only

b2

. C,D Only
3.B.E Only

4. A, E Only

Options :
1.1
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2.2
3.3
4.4

Question Number : 111 Question Id : 34212315719 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

BHIATRI 3R AP & TRUKE BIS o
A.CCS
B. MED
C.YYC(C
D. MFM
E. CUR

1 feu e fasedl # 9 @1 IR &1 99 SIS
1. Hdd A, B
2.$HadC. D
3. $ddB.E
4. PIAAE

Options :
1.1
2.2
3.3
4.4

Question Number : 112 Question Id : 34212315720 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Airline codes of Aeroflot and Egypt Air are:

A.AF
B.S5U
C.AZ
D. MS
E. AY

Choose the correct answer from the options given below:

1. A B Only

b2

. C,E Only
3.B.D Only

4. A, E Only

Options :
1.1
2.2
3.3
4.4

Question Number : 112 Question Id : 34212315720 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

WIFIIC 3R 3o TR & UGRAR- ®IS o:

A. AF
B. SU
C.AZ
D. MS
E. AY

14 feu e faseul § 9 @1 IR &1 99 ST
I.hdd A, B
2. Hdd C.E
3.%dd B, D
4. HIAAE

Options :
1.1
2.2
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3.3
4.4

Question Number : 113 Question Id : 34212315721 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Countries belonging to IATA Traffic Conference - II are :

A. Samoa

B. Palau

C. Monaco

D. San Marino

Choose the cerrect answer from the options given below:
1. A, B Only
2.C,D Only
3.C,AOnly

4.D. B Only
Options :
1.1
2.2
3.3
4.4

Question Number : 113 Question Id : 34212315721 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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IATA JIA1ATd -1 9 9&ied G2 g

A, T3
B. Udldh
C. AHIHI
D. 9H HIRAl

- feu U fasedl § 4 F81 IR &1 99 DI
1. ®dd A, B
2.$ddC. D
3.PHdAC. A
4.%4adD. B

Options :
1.1
2.2
3.3
4.4

Question Number : 114 Question Id : 34212315722 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the new features innovated by Trip Advisor by linking Social and Global positioning
Technology?

A. Perfect Trip

B. Search me everywhere
C. Trip Journal

D. Navigate Online

E. Point me there

Choose the correct answer from the options given below:

1. C,E Only

[

.A. B Only
3.C.D Only

4. D. E Only

Options :
1.1
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2.2
3.3
4.4

Question Number : 114 Question Id : 34212315722 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

feT TSargsR gRT AHITS® 3R A R U] & S TaAitd &1 78 Tdi
AN ]

A Tl feg
B. H3l gl 4T Aot
c. feusHd
D. JHAdrs Afdie &
E. O3 fdgdhd &
Ad fu T fadedl O 9 @87 SR &1 994 HifaIu:

1.$hdd C,E
2. hdd A, B
3. $hdd C, D
4. $ddD. E

Options :
1.1
2.2
3.3
4.4

Question Number : 115 Question Id : 34212315723 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Which amongst the following are not the folds in Bed Making?

A. Mitre Fold

B. Bishop's Mitre
C. Sail

D. Foot Fold

E. Cinderella Shoe

Choose the correct answer from the options given below:

1. A B Only

b2

. A, B, C Only
3. C.D Only

4.B, C, E Only

Options :
1.1
2.2
3.3
4.4

Question Number : 115 Question Id : 34212315723 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frafafad # 9 DI 48 af@d &3 | Al (BIeS) T8l 62

A T wiE
B. o=y A
c. dd

D. B¢ it
E. [fgar sy

Hid fau U fadheul § 9 F87 IR &l 99 BT
1.Hhdd A, B
2. hdd A, B, C
3. Hdd C. D
4. Hdd B, C.E

Options :
1.1
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2.2
3.3
4.4

Question Number : 116 Question Id : 34212315724 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are popular Beach Resorts in India?

A. Kaldan Samudha Palace
B. Wild Flower Hall

C. Sea Shell Resort & Spa
D. Seven Seas Hotel

E. Umaid Bhawan Palace

Choose the correct answer from the options given below:
1. A B, E Only
2. B, C Only
3.C,D Only

4. A, C Only

Options :
1.1
2.2
3.3
4.4

Question Number : 116 Question Id : 34212315724 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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fFAfeiRad # ¥ S HRd H U= sid (de) Raid g2

A. BIAGH T Uiy
B. A13¢S WIR Bl
c. U1 2 Rgid ue ol
D. 494 T gled

E. 3¢ 4ad Uely

- feu U fasett # ¥ FT IR 1 99 DI
1.Pdd A, B, E
2. BIAB. C
3.%dd C.D
4. BIAA, C

Options :
1.1
2.2
3.3
4.4

Question Number : 117 Question Id : 34212315725 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Michael Porter's thesis on forces shaping competition in an industry includes the following
except:

A. Rivalry among existing competitors
B. Threat of new entrants

C. Threat from Substitutes

D. Bargaining power of employees

E. Threat from stakeholders

Choose the correct answer from the options given below:

1. A. B Only
2. B, C Only
3. C.D Ounly

4. D. E Only
Options :
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1.1
2.2
3.3
4.4

Question Number : 117 Question Id : 34212315725 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fepdl SegivT / Ul &l SR ¢4 drell AfkTal & R H Aigdhd Uid & 2y ydy o
FafaRad d O iU & Sredr o AIfd g2

A. GdHM Ufagieal & o ufaeaei
B. AdH Udh| BT G

C. gl Y aa

D. HHAIRT! $ Al dToll B Al
E. [gd9UR® | U TdR1

-4 feu e fasedt # 9 @1 SR &1 98 DT
1. had A, B
2. Hdd B, C
3. $HddC. D
4. $HddD, E

Options :
1.1
2.2
3.3
4.4

Question Number : 118 Question Id : 34212315726 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Brands are built and developed through differentiation. Which of the following are not the
product related attributes that marketers can use to achieve differentiation?

A. Design

B. Packing

C. Service Support

D. Online / Oftline Access
E. CRM

Choose the correct answer from the options given below:

1. A, B Only
2.B, C Only
3.C.D Only

4. D, E Only

Options :
1.1
2.2
3.3
4.4

Question Number : 118 Question Id : 34212315726 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

&S faHed gRT ST 3R fasRid fohu oi1d ¢ | fAafaRad # O Sl Sdrg Hdferd favdng
Tel 8. fS b1 STaT fauudhiait faHe Tt B o foT Tgad fohdl off HehdT g

A. fgarzd
B. U ofT

C. Ha1 Jgrdl |
D. g/ Ugd
E. HI3RuA
A feu U fawedl § ¥ a1 IR B 99 DIIU:
. HId A, B
2. HIdB. C
3. HAAC. D

4. HIAD. E
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Options :
1.1
2.2
3.3
4.4

Question Number : 119 Question Id : 34212315727 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The prominent features of Bekal Special Tourism Area Project in Kerla are:

A. Bekal comes on the Kozikode - Mangalore - Mumbai train route

B. Conservation of dilapidated Bekal fort

C. Displacement of local four fishing Panchavyats

D. Adoption of top-down approach for resort development

E. Development of beach of international standards through integrated resort development

Choose the correct answer from the options given below:

1. A. B, C Only

B

.C.B, D Only
3.B.E Only

4. D. E Only

Options :
1.1
2.2
3.3
4.4

Question Number : 119 Question Id : 34212315727 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 135/187



8/31/24,10:11 PM g28.digialm.com/CAE/viewHtmIPDFAction.action

PR B St TR et 8 URET 1 T A -

A. 95 d-BIENDIS-HITAR-Has XTqM W 31d1 3

B. Silvf-¢f1of dbTel fdved 1 TRafor

C. ¥HIT IR A 3R UAradl &l fa=ime

D. REIE [ah1g & ToIu Y Sfeedl Surm &1 S

E. Uhidhd RAIE [dhr & gRT SARIPIT AHH! & &I (2 BT fdbr™

- feu U fasett # ¥ FT IR 1 99 DI
1.Hdd A, B, C
2. $HddC.B.D
3. BddAB.E
4. BIAD, E

Options :
1.1
2.2
3.3
4.4

Question Number : 120 Question Id : 34212315728 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are the member countries of the “Organisation for Economic Cooperation
and Development™?

A. Greece
B. Hungary
C. Brazil
D. Russia

Choose the correct answer from the options given below:
1. A. B Only
2.B, C Only
3.C,D Only

4. B. D Only

Options :
1.1
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2.2
3.3
4.4

Question Number : 120 Question Id : 34212315728 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

FafaRad 5 9 Y <31 «3fie Tgai 2R A6 WieT & Jed o3 g°

A1d fGu T f[ddh el § ¥ F8T 3R &1 98- SIS
1. hdd A, B

. $dd B, C

3. $hdd C,D

4. $dd B. D

Options :
1.1
2.2
3.3
4.4

I

Question Number : 121 Question Id : 34212315729 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Which of the following are not correct about measures of Central Tendency?

A. Arithmetic mean 1s affected least by fluctuations of sampling

B. The sum of absolute deviation of a given set of observations is minimum when taken from
median

C. Median is the only average used while dealing with qualitative characteristics

D. Mode is not affected by the fluctuation of sampling

E. Mean, median and mode comcide in case of non- symmetrical distribution

Choose the correct answer from the options given below:

1. A. B Only
2.B, C Only
3.C.D Only

4. D, E Only

Options :
1.1
2.2
3.3
4.4

Question Number : 121 Question Id : 34212315729 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fFafaiRad H U oY $Y= $-<19 Ugid & A1l & IR H I 981 §2

A. UTdeRH 1 SaR-eldl ¥ gifdid 11 Y9 HH UHIfdd giar 8|

B. it e et & W= 3 QUi fage &1 3 G BIdT 8., S1d T e HIeafiedT 3
ferr SIrar g

C. AITDT UHHE 19d g Sl UMD fa=INdrsii I fHucd 99d wgad fhar SAdr g

D. 9gd®, Uida¥H H 3dR-d¢ral ¥ yHIidd I8 gidi o

E. TTe, TIfeehT S1R dgcldh, YU faqeor &1 feufa o i gid g

A feu U fawedl § ¥ a1 IR B 99 DIIU:
. 9 A.B

2. HAd B. C
3. HAd C.D
4. HIAD. E
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Options :
1.1
2.2
3.3
4.4

Question Number : 122 Question Id : 34212315730 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Non-probability sampling methods are characterised as:

A. Time Consuming

B. Complete list of population elements necessary
C. Low cost per unit sampled

D. Accuracy and reliability unknown

E. Sampling error measurement measures available

Choose the correct answer from the options given below:
1. A, B Only
2.B, C Oaly
3.C,D Only

4. D. E Only

Options :
1.1
2.2
3.3
4.4

Question Number : 122 Question Id : 34212315730 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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TR-UIRe T UfdexH fafemt o1 o=y 8

A. GHY o arel

B. SFYEAT dwdi &l gUl Yl a9 g

C. UfdefRid ufd S&Ts &H drTd|

D. Y5 dl 3R GG 3R |

E. UfdeRH Ffe 9194, Gedid—aiv &1 3199 $Rdl g

- feu U fasett # ¥ FT IR 1 99 DI
1. I A, B

Had B, C

3.%dd C.D

4. BIAD, E

Options :
1.1
2.2
3.3
4.4

]

Question Number : 123 Question Id : 34212315731 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following statements are not true about contract of indemnity?

A. Principal debtor, creditor and surety are its parties.

B. The surety undertakes the payment of debts of principal debtor if he fails to pay it.
C. The liability of indemnifier is primary and self-governing.

D. Indemnifiers libility arises only on the happening of a contingency

E. Indemnifieracts independently without any request of the debtor or the third party.

Choose the correct answer from the options given below:

1. A and B only

b2

. B and C only
3.Cand D only

4. D and E only

Options :
1.1
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2.2
3.3
4.4

Question Number : 123 Question Id : 34212315731 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

gicgfd &1 didareree & IR 1 Fafkiad 3§ 9 S Y- 94 751 o7

A. U THER, ¢aR 3R SHHdER 296 J&HR g

B. ¢ UHWE WHGR Bol YA H Tt gl 8 dl SIHMAGR 396! YITdH S g |
c. effagfdeddl 31 Sgar e SR @ - B

D. &fdufdedl &1 ¢gdl hdd Turd Rufd o g1 34 gl 8|

E. &ffaufdedl d-eR a1 fhdl TR gal & 314 & {41 Tds 9 Y 61d HRdl g

1 feu e fasedl # 9 Fg IR b1 99 BT
1. hdd A, B
2. Hdd B, C
3.%9dC.D
4. H9dD. E

Options :
1.1
2.2
3.3
4.4

Question Number : 124 Question Id : 34212315732 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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The following characterise transformational leaders, except

A. Contingent reward

B. Laissez- faire

C. Inspirational motivation

D. Individualised consideration
E. Idealised influence

Choose the correct answer from the options given below:

1. A and B only
2. B and C only
3. Cand D only

4. D and E only

Options :
1.1
2.2
3.3
4.4

Question Number : 124 Question Id : 34212315732 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fafdiad 9 fbg/fhd BIsH Y URIdIHRI Ad ol fa2§d g2

1 feu U fas ettt # 9 F1 IR &1 99 DI
1. hdd A, B
2. Hdd B, C
3.®HddC. D
4. H9dD. E

Options :
1.1
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2.2
3.3
4.4

Question Number : 125 Question Id : 34212315733 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

gth

Tea cultivation in India was started in the mid 19™ century in:

A. Darjeeling
B. Darbhanga
C. Assam
D. Rohtak
E. Nilgiris

Choose the correct answer from the options given below:

1. Aand B only

[

.A.BandC only
3.A.CandD only

4. A. C and E only

Options :
1.1
2.2
3.3
4.4

Question Number : 125 Question Id : 34212315733 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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T 1941 ITsg] H HRd H 919 $i Wdll Dl T i T8 A2
A. GITSHT
B. G4
C. 3"
D.Jgdd
E. AI@iiR

A1 feu U faswhedl § ¥ gl IR B 99 DIIT:
. HddA.B

2. HAd A, B, C
3. HAd A, C.D
4. HIAd A, C. E

Options :

1.1
2.2
3.3
4.4

Question Number : 126 Question Id :
Correct Marks : 2 Wrong Marks : 0

Match the List-T with List-IT

34212315734 Question Type : MCQ Option Shuffling : No

LISTI LISTII
(Traveler) {Country)
A | Afanasy Nikatin [ |Italy
B. |Ibn Battuta II. |China
C. |Niccolao Manucci | III. |Russia
D. |Fahien IV. | Morocco

Choose the correct answer from the options given below:

|

2

o

. A-IIL B-IV, C-1, D-1II
. A-IV, B-1, C-1I, D-III
.A-1, B-I1, C-I1I, D-1IV

. A-II, B-1II, C-IV, D-1
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Options :
1.1
2.2
3.3
4.4

Question Number : 126 Question Id : 34212315734 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

AT 1% 1Y &I 11 D1 e Hifoe

g28.digialm.com/CAE/viewHtmIPDFAction.action

?};ﬁ% I F}?h;’u
zeall
EIGH
g

A. | smprrE Rl | 1.
B 3@ aq I
C. | 7t i1
D.

=

PaIE I IV. |[ARa®I

A fau U fased] # U Igt 3R &1 99 DI

1. A-IIT, B-IV, C-I, D-IT
2. A-IV, B-1, C-II, D-IIT
3. A-L, B-II, C-IIIL, D-1IV

4. A-I1, B-III, C-IV, D-I
Options :
1.1
2.2
3.3
4.4

Question Number : 127 Question Id : 34212315735 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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Match the List-T with List-IT

LISTI LISTII
(Country) (Main attraction)
A |Rudeshelin I | Spa treatment
B. | The Bernese Oberland | II. | Wine festival
C. |Salzburg II1. | Spectacular Alpine Scenary
D. |Vichy IV, | Summer music festival

Choose the correct answer from the options given below:
1. A-I, B-II, C-IV, D-III
2. A-IL B-IIL C-IV, D-I
3. A-IIL, B-IV, C-1, D-II

4. A-IV, B-11, C-1I1, D-I

Options :
1.1
2.2
3.3
4.4

Question Number : 127 Question Id : 34212315735 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e Hifoy

?:.I E@%
A SR 1 |=3UER
B. |G ey afidxdis| 1. |=RE Heiua
C. |areorert 111 | GRH e Ue=y
D. |f&=it 1v. | dieg il geicd

A1 3T U [9ahedl § 9 W1 IR &1 994 DI
1. A-I B-II, C-IV, D-III
2. AL B-IIL, C-IV, D-I
3. A-IIL B-1V, C-I, D-II

4. A-IV, B-1I, C-II1, D-I
Options :
1.1
2.2
3.3
4.4

Question Number : 128 Question Id : 34212315736 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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LISTI

(Mountain Ranges in Europe)

LISTII
(Strech of Areas)

A | The pyrenees [. | The spine of the scandinavian

B. | The Carpathians II. |The Bay of Biscay East to the Mediterranean

C. | The Caucasus II1. | The Danubiaun plains

D. | The Kiolen IV |For to the south- east between the Black sea and the Caspian sea

Choose the correct answer from the options given below:

1. A-I, B-II, C-III, D-IV

2. A-IIL B-IV, C-1, D-II

3. A-IV, B-III, C-II, D-1

4. A-II, B-1II, C-IV, D-1

Options :
1.1
2.2
3.3
4.4

Question Number : 128 Question Id : 34212315736 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e Hifsy

A |foE= I |Sh=aar HEa

B. |®RUfm I | YAZEIR & Jd # fa%h &1 @rs!

c. | o= L | SfeTr feH

D. | IV. | BTl 9FR 3R SEUEH TR & HL Gl gd 4§ g2
A1 ST U [qhedl § 9 W1 IR &1 994 DI

1. A-I, B-IL, C-III, D-IV

2

-A-IIL B-1IV, C-1, D-II

3. A-IV, B-III, C-1I, D-1

4. A-II, B-1II, C-1IV, D-1

Options :
1.1
2.2
3.3
4.4

Question Number : 129 Question Id : 34212315737 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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LISTI LISTII
(UNESCO World Heritage Site) (Loaction)
A |Keoladeo National Park I [Assam
B. | Sundarbans National Park IT. | Uttarakhand
C. |Manas Wildlife sanctuary ITI. | West Bengal
D. |Nanda Devi Valley of Flowers | IV. | Rajasthan

Choose the correct answer from the options given below:

1. A-I, B-II, C-III, D-IV

2. AL B-IV, C-1, D-TIT

3. A-IV, B-III, C-I, D-II

4. A-III, B-11, C-IV, D-1

Options :
1.1
2.2
3.3
4.4

Question Number : 129 Question Id : 34212315737 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e Hifoy

@Eﬁﬁ?ﬁﬁ;mﬁm gjﬁg
haaed PRI I L W
Yexe g g 11 | 3RS
Y 3uiid HHORUY | 1L | Of%H STTa
a1 ¢dt iR wat @1 gt | v | e

Ard U U f[dahedl § 4 To1 SR BT 999 DIl

1. A-I, B-IL, C-III, D-IV

olo|w|x

2. AL B-1V, C-1, D-ITT
3. A-IV, B-III, C-1, D-II

4. A-III, B-II, C-IV, D-1
Options :
1.1
2.2
3.3
4.4

Question Number : 130 Question Id : 34212315738 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match the List-T with List-IT

LISTI LISTII
(High speed trains in Europe) (Running between)
A | Railjet I | Switzerland- France
B. |TGV Lyria II. | Chech Republic
C. | Super City III. | Spain- France
D. |Renfe- SNCF IV. | Austria- Germany- Switzerland-Hungary

Choose the correct answer from the options given below:
1. A-I, B-IV, C-III. D-I
2. A-IIL B-1, C-1I1, D-IV
3. A-IV. B-1, C-II, D-III

4. A-II, B-1IV, C-1I1, D-I

Options :
1.1
2.2
3.3
4.4

Question Number : 130 Question Id : 34212315738 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e Hifoy

R o

A |EeE 1 |RaeeRd s wig

B |&efidiamafar | 1L |dd ORI

C |gR S 1. | S5

D. |- wuedG | 1v. | s femn-o-t- Ryeawds &

A1 3T U [9ahedl § 9 W1 IR &1 994 DI
1. A-I, B-IV, C-IIL, D-I
2. A[IL B-1, C-II, D-IV
3. A-IV, B-I, C-II, D-III

4. A-II, B-1V, C-III, D-I
Options :
1.1
2.2
3.3
4.4

Question Number : 131 Question Id : 34212315739 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match the List-T with List-IT

LISTI LISTII
(Airport) (City)
A |Rajv Gandhi International Airport I. |Port Blair
B. |Lokpriva Gopinath Bordoli International Airport| II. | Varanasi
C. |Lal Bahadur Shastri Airport III. | Guwahati
D. | Veer Savarkar International Airport IV. |Hyderabad

Choose the correct answer from the options given below:

1. A-IV, B-III. C-II, D-I
2. A-IV, B-11. C-III, D-I
3. A-L, B-1I, C-III, D-IV
4. A-I, B-1IV, C-II, D-III

Options :

1.1

2.2

3.3
4.4

Question Number : 131 Question Id : 34212315739 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e Hifoy

i T
3T hiERd
A [RToTa T4 SRS 2T o L [Te=m
B. |cliepfig gy gREIars SRipid gars 2151 | 1L | IRIoE
C. | gETeR T B A L |TEreTel
D. |dR TraRaR HeRiP garg gt IV. |SeRmEIg
Ad feu 7T fadedl O 9 g SR &1 994 DIl

1. A-IV, B-11I, C-II, D-I
2. A-IV, B-1I, C-1I1, D-1
3. A-L, B-II, C-III, D-1IV

4. A-1, B-1V, C-I1, D-IIT
Options :
1.1
2.2
3.3
4.4

Question Number : 132 Question Id : 34212315740 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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LISTI LISTH
(Travel Agency / Organisation) {(Kev Person)
A | Make My Trip I. |Deep Kalra
B. | Yatra II. |Manizsh Amin
C. |Cleartrip III. |Hruszh Bhart
D. |Agoda IV, |Robert Rosenstein and Michael Kenny

Choose the correct answer from the options given below:

1. A-IV, B-111, C-1I, D-1
2. A-f, B-II, CIII, D-1IV
3. AL B-IV, C-1, D-IT

4. A-II, B-1, C-IV, D-III

Options :
1.1
2.2
3.3
4.4

Question Number : 132 Question Id : 34212315740 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e Hifsy

... - "L

A (BB HEEY | L | SRR

B. |TEm I |9 3

c. |fkmRfey 1L |88 Yg

D. | 3FTaT IV. |31a¢ I8 AR AEHd bl
e feu 77U fadedl O 9 gt SR &1 99 DIfIC:

1. A-IV, B-11I, C-II, D-I

2

.A-L, B-II, C-1IL, D-IV

3. A-III, B-1V, C-1, D-II

4. A-11, B-1, C-IV, D-III
Options :
1.1
2.2
3.3
4.4

Question Number : 133 Question Id : 34212315741 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match the List-T with List-IT

LISTI LISTII
(Dish) {Regional Cuisine)
A | Chapa Pulusu I. | Andhra Pradesh
B. |Luchi II. | West Bengal
C. |Varan 1. | Goa
D. |Rista IV. | Kashmir

Choose the correct answer from the options given below:

1. A-I, B-II, C-III, D-IV

2. A-IV, B-III, C-11, D-1

3. A-III, B-1, C-1V, D-I1

4. A-II, B-IV, C-1, D-III

Options :
1.1
2.2
3.3
4.4

Question Number : 133 Question Id : 34212315741 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e Hifoy

A |=mdTOqy L |3ffeweE
B. |t I | OiEr s
C. | 0L |

D. |Te=m V. |&=dR

A1 3T U [9ahedl § 9 W1 IR &1 994 DI
1. A-I B-II C-IIL, D-IV
2. A-IV, B-IL, C-IL, D-I
3. A-IIL B-I, C-IV, D-II

4. A-II, B-1V, C-1. D-III
Options :
1.1
2.2
3.3
4.4

Question Number : 134 Question Id : 34212315742 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 159/187



8/31/24,10:11 PM g28.digialm.com/CAE/viewHtmIPDFAction.action

Match the List-T with List-IT

LISTI LISTII
(Marketing mix elements) (Sub- elements)
A | Production [. |Dealer- principal relations
B. |Place II. |Service standards
C. |Price II1. | Discounts and rebates
D. |Promotion IV, | Quality of sales force

Choose the correct answer from the options given below:
1. A-I1, B-1, C-1I1, D-IV
2. A-IL B-IIL C-I, D-IV
3. A-L, B-II. C-IIL. D-1V

4. A-IIT1, B-1V, C-1, D-II

Options :
1.1
2.2
3.3
4.4

Question Number : 134 Question Id : 34212315742 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e Hifsy
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A |3@E I |SieR-ugE gay
B (== I |¥a19Hers

c |9 1L | &gl 3R B¢

D. |WdR-UgR Iv. | faisht &t b1 T[ura

A f6u U 9 eal § I8t IR 31 I999 BITIT;

1. A-II, B-I, C-IIL, D-IV

2

. A-II, B-1IT, C-1, D-IV

3. A-L, B-IL, C-III, D-IV

4. A-II1, B-1V, C-1, D-II
Options :
1.1
2.2
3.3
4.4

Question Number : 135 Question Id : 34212315743 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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LISTI

{Characteristics of services)

LIST II
(Explanation)

A | Intangibility 1. | Standardisation 1s difficult in services

B. |Inseparability II. | Services cannot be stored

C. |Perishability ITII. | Services are produced and consumed simultaneously
D. | Variability IV. | Services have mental rather than physical connotation

Choose the correct answer from the options given below:

1. A-I, B-II, C-III, D-IV
2. A-IL. B-IIL C-1IV, D-1
3. AL B-IV, C-1, D-IT

4. A-IV, B-11I, C-II, D-I

Options :
1.1
2.2
3.3
4.4

Question Number : 135 Question Id : 34212315743 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e Hifoy

A | 3mdan I |Taret ¥ aEdiaR §Rea @i §
B. | SQya®ig | 1L |arei o1 YSRUI 8! {6yl ol Gl &
c. |fa=ma 111 | AT T 9 Iaied SR ST &1 ol &
D. |foEeeiaar | v S eife 8 afer AFTa® §
Ad feu 7T fadedl O 9 g SR &1 994 DIl

1. A-I, B-IL, C-III, D-IV

2. A-II, B-1II, C-1V, D-1

3. A-III, B-1V, C-1, D-II

4. A-IV, B-11I, C-II, D-1

Options :
1.1
2.2
3.3
4.4

Question Number : 136 Question Id : 34212315744 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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Match the List-T with List-IT

LISTI LISTII
(Rural Tourism Project)| (Name of state)
A | Anegundi I. | Gujarat
B. |Hodka II. |Odisha
C. |Raghuraipur III. | Nagaland
D. |Khchoma IV. | Karnataka

Choose the correct answer from the options given below:
1. A-IV. B-1, C-1I. D-III
2. A-1, B-II, C-IIL, D-1IV
3. A-IIL B-IL, C-IV, D-1

4. AL, BAIL C-1, D-IV

Options :
1.1
2.2
3.3
4.4

Question Number : 136 Question Id : 34212315744 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e Hifoy

I 1l

A |3 I [TeRE
B. |giS® 1L | aifEEn
C. [RRER 1L |AFTeS
D. |@iem IV. |&led

A1 3T U [9ahedl § 9 W1 IR &1 994 DI
1. ATV, B-I, C-IL, D-III
2. A-I, B-II, C-III, D-IV
3. AIIL B-IL, C-IV, D-I

4. A-11, B-IIL, C-1, D-IV
Options :
1.1
2.2
3.3
4.4

Question Number : 137 Question Id : 34212315745 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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LISTI LISTII
(Five vears plan period) {Major insights)
A ?;?ilj Brve Yo En (D0 [ |Declaration of tourism as an Industry
Seventh Five Year Plan (1983- Tourism Development through the National Development
B. 1 :
1990) Council
i ive Ye ¥
C. ?éal_l.;h Hhie e Rl gL III. |Encourage and develop domestic tourism
e —
D. :E.SB“?}; Bive Yo nlat Q002 IV. | Establishment of mvestment cell in tourism

Choose the correct answer from the options given below:

1. A-I, B-IV, C-III. D-II
2. A-IL. B-IIL C-IV, D-1
3. A-IV, B-III, C-1, D-II

4. A-1I1, B-1, C-1V, D-II

Options :
1.1
2.2
3.3
4.4

Question Number : 137 Question Id : 34212315745 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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AT 1P 1Y G 11 DT IdH i
.. . .-
A |3t Ugaufg oo (1980 T 1985) | 1 | S & ¥U H udied &1 gimon
B. |wradl Ugauia dieHT (1985 § 1990) | 11 |t faera uftue & mie § uded faem
C. |3med! daaulg aieMT (1992-1997) | 111 | X Uded &I 9glal 3R &g
D. |GHdl U=gaug g (2002 T 2007) | IV, | gdeT H Fow USig &1 ®mg=n

A f6u U 9 eal § I8t IR 31 I999 BITIT;

1. A-I, B-IV, C-III, D-II

2

. A-II, B-II, C-IV, D-I
3. A-IV, B-III, C-1, D-II

4. A-III, B-1, C-1IV, D-II
Options :
1.1
2.2
3.3
4.4

Question Number : 138 Question Id : 34212315746 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match the List-T with List-IT
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LISTI
(Qualitative research
methods)

LISTII
(Description)

How individuals make sense of the world around them and how the

A | Ethnography I |researcher should bracket out perceptions concerning his grasp of the

word.

Immersing in a social setting for an extended period of time observing
B. |Phenomenology IE ek : i =

il behavior, listening to conversation

Analysis of qualitative data that aims to generate theory out of research

C. | Grounded theory III. - S ks 5 ?
& data by achieving a fit between the two.
. - | Describing the documented history of a person, group, organistion or

D. |Case studies V. 5 ? P - E1OUp. 012

event.

Choose the cerrect answer from the options given below:

1. A-IT, B-1, C-III, D-IV

I

.A-L, B-II, C-1II, D-IV

3. A-II, B-1II, C-1V, D-1

4. A-IIT, B-IV. C-I, D-II
Options :
1.1
2.2
3.3
4.4

Question Number : 138 Question Id : 34212315746 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e Hifoy

I 11
gwmﬁw’wﬁ’rﬁ: %
ik ohd UBR U U 1 G- @1 1Y ®d § 991 bl
A |TorfauuiafasT= L ﬂﬁ@ﬁgﬁmﬁaﬁmﬁmmﬁﬁwm
r
f g amiee oo | @ 999 9% 16, 09g8R W& 3R
B. | S a-faRT = T aradia g
c fiRe=s Wi (s o |59 gIeT 1 [q=euyl foreept Se=d ol & «1d fthe urd
- | s fasTa) " | @ @ o Wity S1eT 1 Risid OeH s Bl
| 7ot eofe, g 41 T TeH 1 uig e & gxdigell giaerd @l
D G SR V- | fraor e
A feu U fad el § 9§ ¥g! 3R &l 99 DIl

1. A-I1, B-1, C-III, D-IV

2. A-1, B-II, C-1I1, D-IV

3. A-II. B-IIL C-IV, D-1

4. A-III, B-1V, C-1, D-II

Options :
1.1
2.2
3.3
4.4

Question Number : 139 Question Id : 34212315747 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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Match the List-T with List-IT

LISTI LISTII

(Ratios) (Measures)
Loverage Ratio [. | Ability to maintain economic position
Activity Ratio II. |Return generated on sales and investment

Profitability Ratio| III. | Effectiveness in using resources

olal|w|e

Growth Ratio IV, | Extent of debt financing

Choose the correct answer from the options given below:

1. A-I, B-II, C-III, D-IV
2. A-1l, B-1II, C-1V, D-1
3. A-1l, B-1II, C-1, D-IV

4. A-IV, B-11I, C-II, D-I

Options :
1.1
2.2
3.3
4.4

Question Number : 139 Question Id : 34212315747 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e Hifoy
T 1 T
HIT

| e | 1 | enfde Ruf Sooie @ @t g
1L |fesl 3R FAdw R ogad ufawa
- |4H9fE e 1L |TereE! & Jugi § T

. | Hale s IV. |l faiia &1 ekl

Ard U U f[dahedl § 4 To1 SR BT 999 DIl

1. A-I, B-IL, C-III, D-IV

i
;

2. A-II, B-1II, C-1V, D-1

3. AL, B-IIL, C-1, D-IV

4. A-IV, B-II1, C-I1, D-I
Options :
1.1
2.2
3.3
4.4

Question Number : 140 Question Id : 34212315748 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match the List-T with List-IT

LISTI LISTII
(Author) (Publication)
A | Elton Mavo I. | Theory -X and Theory-Y
B. |Douglas McGregor| II. |Howthorne Studies
C. | Warren Bennis I[II. | Death of Bureaucracy
D. |Herbet Siman IV, | Prnciples of Backlash

Choose the correct answer from the options given below:
1. A-IL, B-1, C-1IV, D-III
2. A-1, B-II, C-IIL, D-1IV
3. A-IL B-I. C-IIL, D-1V

4. A-IIT, B-IV. C-1. D-IT

Options :
1.1
2.2
3.3
4.4

Question Number : 140 Question Id : 34212315748 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e Hifsy

L Sib
U1

ik
Ueed 14r L | R S @iy
SEY BETR| I |EEYH wiElT
aEsEy | L | 3Y G TR
e i | v |filooe off s &g

A f6u U 9 eal § I8t IR 31 I999 BITIT;

1. A-II, B-1, C-IV, D-III

olo|w|x

2

. A1, B-II, C-TIL, D-IV
3. A-II, B-1, C-III, D-IV

4. A-II1, B-1V, C-1, D-II
Options :
1.1
2.2
3.3
4.4
Sub-Section Number : 2

Sub-Section Id : 342123616
Question Shuffling Allowed : No

Question Id : 34212315749 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (141 to 145)
Question Label : Comprehension
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Read the following passage carefully and answer the questions :

Taj Hotels has yet again achieved remarkable recognition as the World’s Strongest Hotel Brand
and India’s Strongest Brand across all sectors, as per the Brand Finance Hotels 50 Report 2024
and the India 100 Report 2024. Taj Hotels has consistently been acknowledge for its excellence.
having been ranked as the World’s Strongest Hotel Brand in 2021, the World’s Strongest Hotel
Brand and India’s Strongest Hotel Brand in 2022 and India’s Strongest Brand in 2023. This
prestigious accolade is mainly due to support and love from the valued patrons of Taj.

The legacy of Taj Hotels is built on a vision of a grandeur, offering an array of superlative
experiences designed to indulge guests and create unforgettable memories. This journey began in
Dec 1903 when the visionary Mr. Jamsetji Nusserwanji Tata, - a patriot, philanthropist realized
his dream by opening the doors to what would become the World’s Greatest Hotels.

A key element of Taj’s enduring success Is its commitment to the core values encapsulated in the
initiative known as "‘PAATHYA' derived from a Sanskrit term meaning ‘Path’ which represents
the brand’s dedication to leaving positive change. PAATHYA represents several critical initiatives
: Progress Sustainable Growth, Preserve Heritage and Brand, Prudent Corporate Governance,
Promise Social Responsibility, Promise Environmental Stewardship, and Partner Transformation.

Taj is more than just a hotel brand., it is a global legend. By blending architectural landmarks with
a unique soul of signature grace and warmth, Taj’s expanding collection of hotels, Safaris and
Resorts has established a significant global presence.

The diverse portfolio of Taj brands include Taj SeleQtions, Gateway. Vivanta, Ginger. AMA.
Qurin and Taj SATS. each offering distinctive experiences tailored to meet varied guest
preferences. Indeed, a hallmark of Taj hotels is encapsulated in A feeling” called “Tajness™ No
doubt Taj is World’s Strongest Hotel Brand. Wah Taj!

Sub questions

Question Number : 141 Question Id : 34212315750 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In which year did Taj Hotels first achieve the ranking of the World's Strongest Hotel Brand?

1. 2021

b2
-2
=
I3
[

4.2024
Options :
1.1
2.2
3.3
4.4
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Question Number : 142 Question Id : 34212315751 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

What does the initiative ‘PAATHYA’ stand for in the context of Taj Hotels?

1

. Pathway to Success
. Path of Leadership

. Path to Innovation

4. Path of Positive Change

Options :

1.1
2.2
3.3
4.4

Question Number : 143 Question Id : 34212315752 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

Who was the founder of Taj Hotels?

|

]

L

. Ratan Tata
. Lalit Suri

. Jamsetji Nusserwanji Tata

4. Cyrus Mistry

Options :

1.1
2.2
3.3
4.4

Question Number : 144 Question Id : 34212315753 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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Which core value is not a part of the PAATHYA" initiative of Taj:

1. Progress Sustainable Growth

t2

. Preserve Heritage and Brand
3. Promote Technological Innovation

4. Prudent Corporate Governance

Options :
1.1
2.2
3.3
4.4

Question Number : 145 Question Id : 34212315754 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following is mot a brand under the Taj Hotels Umbrella?

1. Vivanta

]

. Sele Qtions
3. Lemon Tree

4. Ginger

Options :
1.1
2.2
3.3
4.4

Question Id : 34212315749 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (141 to 145)
Question Label : Comprehension

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 176/187



8/31/24,10:11 PM g28.digialm.com/CAE/viewHtmIPDFAction.action

frafafad sra=de ufet o wyl & 3w difsT)

SIS Is-4 gleed 50 RUIE 2024 3R 134T 100 RUIE 2024 & IR I Blewd A GF: 9t
&1 ¥ URd & a4 Hoqd §is 3fR {9y & Y44 Hoigd gled sis & =0 H {3 Ui &1 ¢l
ISl Blecd TR U1 Sl & o1T TRIGT TR § 941 34 2021 H {3y & Holgd gied s
3R YR & a4 TAelqd gled dis Ul 2023 § YR U a4 Tolqd gled sis dul 2023 |
YRd ¥ a4 Holdd gled dis &l 3d UeH &1 713 411 g8 ufdifd T9H Y & geddH

geaiit™l & gHYH 3R U9 &1 URumE gl

dS glecd & fava Yerdl & qRefd R [iid &1 78 ¢ S dgaH! &f Ifdhd &4 & fau
fSoiTe T U dgd’i Y4l &I 4@l THiidd Hdl § 94T AR 1S Giord Dl g
28 gl $f YEafd fGqrar 1903 § g3 Od G, gHall 3R gredl 41 SRyl
JERASI 2Tl 4 39 gled & aXdrsl Widd 34 9ud HIdR fhU, 5 915 | fay 91 gy
qeHdd gled a1l

TS &1 =R Y% aldl &1 Udh Hgdqul ded Tehd Ueg -GrAr A1 &l Ugd ¥ [Higd gHard 9
A § ol 3 gy § ol YBRIAD URddT B 3R FD1d & Uld §iig & AU ol
cIfdr g1 uredn 9gd 9R1 AgayYi ugdsi &f giiar g, Syrvi ddfs ¥ waifd, favrad ok
§iiS &1 GR&fT, fddhdH HRURCS HU=IH, s Sdidcigdl o1 drel, Taiaruiia Add &1
aRIET 3R UREd YRTeR|

disl Ggel Ud gled dig U 3{i¥d g, I8 Udh di¥d farTs g1 3l Yaadn 3R THSRll &1
fafRIy S & WY R dal &I ST Hb al & [GxdRd gid gledl, 9%iRkal 3R
feg1e] & Yahod d Hgdyul fayeandl Iuffa wifdd &1 g |

dre sifst & fafqy giéwiferal o a1, Yolsizig, ed, fqdaidr, fSoR, T, agg SR de 9cy
MY 8, o A ifafy uryfadrel o W & gq Sai-3@ ARy g s[yd
URdlfdd &3 81 dr&dd | Aol glecd &l & UgdH <ds-y 9Hd <Udh Yiaqr | sidfdigd
g1 Bls AP g, 1o [dY BT Yy Boldd gled dis g1 dig dil|

Sub questions

Question Number : 141 Question Id : 34212315750 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fhg 9y a1l gleed H ugdl 9R 3y & 94 Oeidd gled dig & wu 4 Ifd1 uiitd o1 Ui

1. 2021

2.2022

3. 2023

4. 2024
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Options :
1.1
2.2
3.3
4.4

Question Number : 142 Question Id : 34212315751 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

dIsl giedl & dey H «urar ugd O &1 SfHUd g2

|. gHad &1 30

2. AJA DI

3. AR BI T

4. GHRIAD TR ®1 T

Options :
1.1
2.2
3.3
4.4

Question Number : 143 Question Id : 34212315752 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TS gled Bl YRIGd Bi Y12
1. XcH eTel
2. dferd i
3. SHRIGul RS eIel

4. IO ot

Options :
1.1
2.2
3.3
4.4

Question Number : 144 Question Id : 34212315753 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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TS &1 ~UrT Ugd Bl & 9 T AFS el 82
1. YR Hafs &t wifd
faUrd SR wie & e

[~

L T

3. debHld] ﬂld!dliﬁﬁ@ldl

4. f[adH 2 HRUNE AHTA

Options :
1.1
2.2
3.3
4.4

Question Number : 145 Question Id : 34212315754 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fafeRad & ¥ &Il a1l gled YHg & 3idiid siis =gl g2
1. faafar

2. Hell R (Sele Qtions)
3. A S
R~

Options :
1.1
2.2
3.3
4.4

Sub-Section Number : 3
Sub-Section Id : 342123617
Question Shuffling Allowed : No

Question Id : 34212315755 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (146 to 150)
Question Label : Comprehension
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Read the following passage carefully and answer the questions :

In 1989, the United Nations expressed deep concern at the serious degradation of the life-support
systems and convened the United Nations Conference on Environment and Development in Rio
de Janeiro in 1992. The purpose and content were to “elaborate strategies and measures to halt
and reverse the effects of environmental degradation and promote sustainable development. The
immediate results included the Rio-Declaration, non-binding treaties on climate change and
biodiversity, forest principles, Agenda 21 and meagre financial commitments. The commitment
of resources was paltry $ 2.5 billion as against an estimated cost of programmes of $ 600 billion a
year. However, the travel and tourism industry was not included as a separate item on the
conference agenda. Friends of the Earth International (FOEI) declared Rio’s continuation of
unsustainable development and failure to implement the commitments made.

In 2002, the UN World Summit on sustainable Development from world business community
held in Johannesburg. Along with International Chamber of Commerce. the Business Council on
Sustainable Development initiated *Business Action for Sustainable Development™ to ensure
maximum participation and create good corporate citizenship, a tactic which corporate Watch
refers to as “greenwash”. The 2012 Earth Summit in Brazil was failed in creating tangible
outcomes. “An epic failure” was the verdict of David Miller Executive Director of Greenpeace
Outcomes included a document entitled “The Future we want”.

The adoption of the notion of the green economy in green languages as a cover for developed
countries’ attempts to create new markets out of biodiversity and ecosystems.

The conference was a victory of consumer capitalism over progressive collective leadership as
described by columnist George Monbiot.

Nevertheless, Carothers described the BCSD as a coalition of 50 multinationals whose goals were
polluters on the planet towards voluntary rather than legislated reduction in toxic emission, the
right to corporate privacy and wholesale support for “free trade™.

Sub questions

Question Number : 146 Question Id : 34212315756 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The Business council on Sustainable Development was formed to:

1. Identify reason for separation of tourism from the agenda.
2. Promote the international business community's standard points on environmental issues
3. Enhance voluntary action on corporate accountability

4. Assess the impact of life- support system in ecosystem.

Options :
1.1
2.2
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3.3
4.4

Question Number : 147 Question Id : 34212315757 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

International Chamber of Commerce was a part of initiative of Rio +10 to create “Business
Acton for sustainable Development™ to

1. Invite expression of interest from tourism industry partners for responsible operations

2

. Expedite action in wrong doers of tourism industry
3. Ensure maximum participation from the world business community

4. Promote" Voluntary" rather than legislated reduction in toxic emissions.
Options :
1.1
2.2
3.3
4.4

Question Number : 148 Question Id : 34212315758 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following were the outcomes of the first Rio Conference on Environment and
Development?

A. Formulation of forest principles

B. Inclusion of travel and tourism industry as a separate item
C. Meagre financial commitment

D. Binding treaties on climate change and biodiversity

E. Tourism as a PCA of ecosystem to counter destruction

Choose the correct answer from the options given below:

1. A and B only
2.Band C only
3.D and E only

4. Aand C only
Options :
1.1
2.2
3.3
4.4
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Question Number : 149 Question Id : 34212315759 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the List-I with List-IT

: LIEET . LISTII
(RisLonference’s (Landmark Achievement)
commitments) B
A | Strategies and Measures | [ | Maximum participation through greenwash
Good Corporate G T
Piasihi II. |Rio+ 20's outcome
£ | T B 1. Re‘.'e_rsal of the_ effect of environmental degradation and promote
sustainable development
D | Consumer Capitalism IV | Progressive collective leadership

Choose the correct answer from the options given below:

1. A-I, B-II, C-III, D-IV

2. A-1L, B-IV, C-1, D-IIT

3. AL B-L, C-II, D-IV

4. A-1, B-III, C-IV, D-II

Options :
1.1
2.2
3.3
4.4

Question Number : 150 Question Id : 34212315760 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Arrange the outcomes of Rio Summits in sequence order of their occurrence?

A. UN World Summit on Sustainable Development

B. Friends of the Earth International

C. United Nations Conference on Environment and Development

D. Adoption of green economy

E. Voluntary act of BCSD rather than legislated reduction in toxic emissions:

Choose the correct answer from the options given below:

1. C.EAB.D
LB E D
3B, DAEC

4.D,A,C,B,E

Options :
1.1
2.2
3.3
4.4

Question Id : 34212315755 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (146 to 150)
Question Label : Comprehension
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frafafad sra=de ufet o wyl & 3w difsT)

1989 H TGard 1Y Y = Siia-1-Tgrddl unierdi & iR &R0 U= g el S5ed Bl T 1992
7 o S SRRl & gad Iy vafaRor SR fadry T gamT SUdT 3T 3R ae
TGTaRU R0 & UHIGT B1 BH B duT SUG! Uil & A Ud YR by &l
d¢ &1 IHITTAT 3R 3T & 3Fl g7 UT1 debTdd UROMAT H RA-GINol, =g gRdd-
ud Sa-fafaedr dadl TR-aTerer Wit a7 e, Telsl 21 SiR seuds fadia uidegan
e 2t 91 @1 Uidd<dr uld a9 oo fafea STer &1 3uAd wrdsbd drrd S dal
H Hgdl 2.5 faferad STer &l afeqdd A A1 grdifd amEr 3R wed 3N &l TSt S 3
He & ¥u 4 gifed g1 6 T 41l ha¥ 3 ¢ 3] Sex[%Md (FOEI) H YR
mﬁﬁlmmﬁawmaﬁ$mlufﬂqﬂﬁﬁmmdtﬁwﬁﬁﬁmﬂﬂmaﬁ
Cakif

2002 H Slig-gatt d i fay Yuroii fde ™ S Hdd & 91y sffddaq Yriler! giHiEd
B g HRUNE ANRSAT iord R & [ -HYRUTY [dHMg & [0 TR gIoHr &
M Y SARIPT 0T UHI¥ Td YR f[9ry Fa9r™ uRye - Ugd I 31 41, o
DHRUNE FHle! gRT <UHaRr & 911 &l 13 2411 2012 H Foid H {9y S8 819 uiRumd
Ut - 4 fatd WM T & SRDRI e Sfde feR 4 34 <Ud Hgl [dhadr i
31 <1 411 39 gRumAf # «yfasy 1 gH digd ¢ A & adidsl HI afffad 411 gRd
e 7 gRd SfdouaRl & Ui B B0 Bl SR fabidd a2 gRI g fafgedr
3R UIRdH o ¥ 944 9NR gioid H3- & Tl D 318 U1l [YBR el Aifgsiie 9 34
TTferiie Arfgd dcd W SUMiddl Yuilare o faeid & U o faaviord faar|

ﬁwﬁmﬁﬁcsnﬁauﬁﬁa@ﬁ@ﬂwﬁwqﬂwﬂwmmwsﬁm
IS HH HRA Dl B! Deldl [T Foll Wiwsd deldl i 3R Uldds g 3R S (ol &
DR TUT - ATIR* BT Gl YA D gl

Sub questions

Question Number : 146 Question Id : 34212315756 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

YURUY [ Yeith oaqdrg Uiy &1 18- i fobar T/ 4
1. USIST § G Bl e d- & RO g & fau
2. TiaRUiTg Hel WY SaRiPH SHqury §Her & fagail &l gglal o & feu
3. HRURE FReIYd Yol Wiwsh HRATS i dgMH & foiw
4. URdT H SIa=-TgTadT WUl & THTd BT SAThal HI & el

Options :
1.1
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2.2
3.3
4.4

Question Number : 147 Question Id : 34212315757 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

RV g GYE «HYRUTY fahr & il U dRdls” 94 & Tl Ral+10 Ugd &1

T 2T, FoTaT S Ffad # 9 & o
L. SaTeGg HaTe! & forg wde I Arglart ¥ siftefa sHfd &
2. WA I 1 gohbai3fl TR HRATS ool D]
3. Ty 99Uy eE ¥ fiUdad YrieR! gHigd &
4. TauTad oAl 94l HIHor &l d9U <Tdiaddh D0 Bl d¢ldl §

Options :
1.1
2.2
3.3
4.4

Question Number : 148 Question Id : 34212315758 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

FfeRad § O &Y UuH Rl fae 3R gaiaor e & IR0 g2
A. a4 Fagidl g1 4|l
B. AT HE & =Y H M 3R e 3¢ B YHAT]
o GURERIEPIREEEG]

D. Sarg URddA 3R oid fafdedl )R S1eaR) diemt
E. 911 & TR | URdd & UiEiT & w0 d udeq

i U MU A cdl # 9 &8T SR D1 99 SIS
1.hdcl A 3R B
2. HIAB 3R C
3. $ddD 3R E
4. HIAA 3R C

Options :
1.1
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2.2
3.3
4.4
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Question Number : 149 Question Id : 34212315759 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

G 1D 1Y G 11 D1 THAH Difore

I II
A |erHiedl iR 3u™ | 1 | UHas gRT e T GeHTidT
B. %wﬂgw 1. |fegi<20 ulkomg
¢ |ufiw Sremamaz |m wﬁmmﬂ?wﬁfﬁmmwﬁwﬁqﬁamﬁ
D. | Iudicl geilarg Iv. | wrferiicl erefed Hq
Hid feU U fad el § 9 Ta1 IR &l 994 DIl

1. A-1, B-II, C-III, D-IV

f2

. A-II, B-IV, C-1, D-IIT

3. A-1IT, B-1, C-II, D-IV

4. A-I, B-III, C-IV, D-II

Options :
1.1
2.2
3.3
4.4

Question Number : 150 Question Id : 34212315760 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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19 et geieHi & 9ol & 39d 9eAghid & 3hd H Hafid ®1|
A. gUH fay GYROY fdh1y I e
B. 13y 3 3 ST
C. Ggad ¥ TaiaR 0l 7R [dhy gried
D. gRa erfoaRy &1 il
E. [quIad Seil O fqurdi od $1 99U Bcsp & Wiwsd o

A fau U fadedl § U ¥8T 3R &1 994 DI

1.C.E;A, B, D

2.A,B,C,E,D
3.B,D,A,EC

4. D.ACB.E
Options :
1.1
2.2
3.3
4.4
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